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Question Number : 1 Question Id : 4058591841 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blanks:

He the newspaper when Ved came

Options :

4058595931, Was read. in

4058595932, read. on

4058595933, Was reading. in

4058595934, had read, about

Question Number : 1 Question Id : 4058591841 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blanks:

He the newspaper when Ved came

Options :

4058595931, Was read. in

4058595932, read. on

4058595933, Was reading. in

4058595934, had read, about

Question Number : 2 Question Id : 4058591842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Correct the given sentence:

Anyone of the two girls can solve this puzzle.

Options :

4058595935, Anyone of the two gir] can solve this puzzle.
4058595936, Either of the two girl can solve this puzzle.

4058595937, Anyone of the two girls can have solved this puzzle.

4058595938, Either of the two girls can solve this puzzle.



Question Number : 2 Question Id : 4058591842 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Correct the given sentence:

Anyone of the two girls can solve this puzzle.
Options :

4058595935, Anyone of the two gir] can solve this puzzle.

4058595936, Either of the two girl can solve this puzzle.

4058595937, Anyone of the two girls can have solved this puzzle.

4058595938, Either of the two girls can solve this puzzle.

Question Number : 3 Question Id : 4058591843 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Correct the given sentence:

She denied to use any force to get him accept his fault.

Options :

4058595939, She denied used any force to have him accept his fault.
4058595940, She denied use of any force to get him accept his fault.

4058595941 . She denied using any force to get him to accept lus fault.

4058595942, She denied having used any force to have him accept his fault.



Question Number : 3 Question Id : 4058591843 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Correct the given sentence:

She denied to use any force to get hum accept lus fault.
Options:

4058595939, She denied used any force to have him accept his fault.

4058595940, She denied use of any force to get him accept hus fault.

4058595941, She denied using any force to get him to accept his fault.

4058595942, She denied having used any force to have him accept his fault.

Question Number : 4 Question Id : 4058591844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Correct the given sentence:

The leaders which do not love their country are not respected.
Options :
4058595943, The leaders that do not love their country are not respected.

4058595944, The leaders which do not love his country 1s not respected.

4058595945, The leaders who do not love his country are not respected.



4058595946, Lhe leaders who do not love their country are not respected.

Question Number : 4 Question Id : 4058591844 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Correct the given sentence:

The leaders which do not love their country are not respected.
Options :

4058595943, The leaders that do not love their country are not respected.

4058595944, The leaders which do not love his country 1s not respected.

4058595945, The leaders who do not love his country are not respected.

4058595946, Lhe leaders who do not love their country are not respected.

Question Number : 5 Question Id : 4058591845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate phrase to replace the underlined part.

During his long discourse he did not touch that point.
Options :
4058595947. touch into

4058595948. touch with

4058595949, touch on



4058595950, touch upon

Question Number : 5 Question Id : 4058591845 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate phrase to replace the underlined part.

During his long discourse he did not touch that point.

Options :

4058595947. touch into

4058595948, touch with

4058595949, touch on

4058595950, touch upon

Question Number : 6 Question Id : 4058591846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate phrase to replace the underlined part.

This matter admits under no excuse.

Options:

4058595951, admits of

4058595952, admits over



4058595953, admuts with

4058595954, admits in

Question Number : 6 Question Id : 4058591846 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the appropriate phrase to replace the underlined part.

This matter admits under no excuse.

Options:

4058595951, admits of

4058595952, admits over

4058595953, admits with

4058595954, admits in

Question Number : 7 Question Id : 4058591847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word with nearly the same meaning as the given word.

EXIGUOUS
Options :

4058595955. tall

4058595956, large



4058595957, abundant

4058595958, scanty

Question Number : 7 Question Id : 4058591847 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word with nearly the same meaning as the given word.

EXIGUOUS
Options :

4058595955. tall

4058595956, large

4058595957, abundant

4058595958, scanty

Question Number : 8 Question Id : 4058591848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word with nearly the same meaning as the given word.

OFFICIOUS
Options :

4058595959, Pushing



4058595960. modest

4058595961. stubborn

4058595962, mystic

Question Number : 8 Question Id : 4058591848 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word with nearly the same meaning as the given word.

OFFICIOUS
Options :

4058595959, pushing

4058595960. modest

4058595961. stubborn

4058595962, mystic

Question Number : 9 Question Id : 4058591849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word with nearly the same meaning as the given word.

SOMBRE
Options :

4058595963, causing sleep



4058595964, squalid

4058595965, gloomy

4058595966. malicious

Question Number : 9 Question Id : 4058591849 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word with nearly the same meaning as the given word.

SOMBRE
Options :

4058595963, causing sleep

4058595964, squalid

4058595965, gloomy

4058595966. malicious

Question Number : 10 Question Id : 4058591850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression.

That which cannot be done without.

Options :



4058595967, Impracticable

4058595968, mpossible

4058595969, nmanageable

4058595970, Indispensable

Question Number : 10 Question Id : 4058591850 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression.

That which cannot be done without.

Options :

4058595967, Impracticable

4058595968, Impossible

4058595969, nmanageable

4058595970, Indispensable

Question Number : 11 Question Id : 4058591851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression.

Plants that draw sustenance from one another.



Options :

4058595971, parasitic

4058595972, symbiotic

4058595973. co-biotic

4058595974, subsistant

Question Number : 11 Question Id : 4058591851 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression.

Plants that draw sustenance from one another.

Options:

4058595971, parasitic

4058595972, symbiotic

4058595973, co-biotic

4058595974, subsistant

Question Number : 12 Question Id : 4058591852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Give one word for the given expression.

One who goes into space.
Options :

4058595975, astronomer

4058595976, astrologer

4058595977, astronaut

4058595978, Jetsetter

Question Number : 12 Question Id : 4058591852 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression.

One who goes 1nto space.
Options:

4058595975, astronomer

4058595976, astrologer

4058595977. astronaut

4058595978, Jetsetter

Question Number : 13 Question Id : 4058591853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression.

Words mscribed on the tomb.

Options :

4058595979, culogy

4058595980, €pitaph

4058595981, cpigraph

4058595982, €pigram

Question Number : 13 Question Id : 4058591853 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression.

Words inscribed on the tomb.
Options :

4058595979, culogy
4058595980, cPitaph

4058595981, cpigraph

4058595982, €pigram

Question Number : 14 Question Id : 4058591854 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the appropriate word.

Divide these twelve apples three boys standing on the road.
Options :

4058595983. to

4058595984, for

4058595985. between

4058595986, d11onz

Question Number : 14 Question Id : 4058591854 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the appropriate word.

Divide these twelve apples three boys standing on the road.
Options:

4058595983. to

4058595984, for

4058595985, between

4058595986, 1onz



Question Number : 15 Question Id : 4058591855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the appropriate word.

There were many interruptions the chairman's speech.
Options :

4058595987. for

4058595988, during

4058595989. while

4058595990. at

Question Number : 15 Question Id : 4058591855 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the appropriate word.

There were many interruptions the chairman's speech.
Options :

4058595987. for

4058595988, during

4058595989. while

4058595990. at



Question Number : 16 Question Id : 4058591856 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blanks.

I was soundly and that a dog had entered the room.

Options:

4058595991 . sleeps. dreamt

4058595992, sleeping. dreams

4058595993, slept. dreaming

4058595994, sleeping. dreamt

Question Number : 16 Question Id : 4058591856 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blanks.

Iwas =~ soundlyand = thata dog had entered the room.
Options :
4058595991 . sleeps. dreamt

4058595992, sleeping. dreams

4058595993, slept. dreaming



4058595994, sleeping. dreamt

Question Number : 17 Question Id : 4058591857 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blanks.

The sun shines day and the moon night.

Options :

4058595995, by. by

4058595996, 1. by

4058595997, at. at

4058595998, by. in

Question Number : 17 Question Id : 4058591857 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blanks.

The sun shines day and the moon night.

Options:

4058595995, by. by

4058595996, 111 by



4058595997, at. at

4058595998, by- in

Question Number : 18 Question Id : 4058591858 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank.

Billiards my favorite game.
Options :

4058595999. 1s

4058596000. are

4058596001. be

4058596002. has

Question Number : 18 Question Id : 4058591858 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank.

Billiards my favorite game.
Options :

4058595999. 1s

4058596000. are



4058596001. be

4058596002. has

Question Number : 19 Question Id : 4058591859 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word.

'PROSPERITY"
Options :

4058596003. MULTIPLICITY

4058596004. JOURNALESE

4058596005. POSTULATE

4058596006. CONVEXITY

Question Number : 19 Question Id : 4058591859 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word.

PROSPERITY"
Options:

4058596003. MULTIPLICITY

4058596004. JOURNALESE



4058596005. POSTULATE

4058596006. CONVEXITY

Question Number : 20 Question Id : 4058591860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word:
'VANGUARD'
Options :

4058596007. VAMOOSE

4058596008. LEADER

4058596009. IMMODEST

4058596010. PRIG

Question Number : 20 Question Id : 4058591860 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word:

"VANGUARD'
Options :

4058596007. VAMOOSE

4058596008. LEADER



4058596009. IMMODEST

4058596010. PRIG

Question Number : 21 Question Id : 4058591861 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word.

‘ROIL
Options :

4058596011, VEX

4058596012. DREAMY

4058596013. PLUSH

4058596014, SCAMP

Question Number : 21 Question Id : 4058591861 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word similar in meaning to the given word.

‘ROIL
Options :

4058596011. VEX

4058596012. DREAMY



4058596013. PLUSH

4058596014, SCAMP

Question Number : 22 Question Id : 4058591862 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word:
‘PAUCILOQUY"
Options :

4058596015, LOQUACITY

4058596016. TATTER

4058596017. TACTILE

4058596018. CONCOMITANCE

Question Number : 22 Question Id : 4058591862 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word:
‘PAUCILOQUY"
Options :

4058596015, LOQUACITY



4058596016. TATTER

4058596017. TACTILE

4058596018. CONCOMITANCE

Question Number : 23 Question Id : 4058591863 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word:
"BRITTLENESS"
Options :

4058596019. GIMCRACK

4058596020. COHERENCE

4058596021. VISCID

4058596022. APOSTATE

Question Number : 23 Question Id : 4058591863 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word:

"BRITTLENESS"
Options :

4058596019. GIMCRACK



4058596020. COHERENCE

4058596021, VISCID

4058596022. APOSTATE

Question Number : 24 Question Id : 4058591864 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word:

"PRIDE"
Options :

4058596023. CHILL

4058596024, SOLICIT

4058596025. HUMILITY

4058596026. HUM

Question Number : 24 Question Id : 4058591864 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word:

"PRIDE"
Options :

4058596023. CHILL



4058596024, SOLICIT

4058596025. HUMILITY

4058596026. HUM

Question Number : 25 Question Id : 4058591865 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Spot the error in the given sentence:

The wisitors complained on the poor accommdodation they were given

A B ( D
Options :

4058596027. A

4058596028. B

4058596029. C

4058596030. D

Question Number : 25 Question Id : 4058591865 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Spot the error in the given sentence:

The visitors complained on the poor accommdodation they were given

A B C D



Options :

4058596027. A

4058596028. B

4058596029. C

4058596030. D

Question Number : 26 Question Id : 4058591866 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Spot the error in the given sentence:

He will not  escape punishment unless  he does not speak  the truth

A B C D
Options:

4058596031. A

4058596032. B

4058596033. C

4058596034. D

Question Number : 26 Question Id : 4058591866 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Spot the error in the given sentence:

He will not escape punishment unless  he does not speak  the truth

A B C D
Options :

4058596031. A

4058596032. B

4058596033. C

4058596034. D

Question Number : 27 Question Id : 4058591867 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Spot the error in the given sentence:

Her and the other members of the group spoke after  their final victory.

A B C D

Options:

4058596035. A

4058596036. B

4058596037. C

4058596038. D

Question Number : 27 Question Id : 4058591867 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Spot the error in the given sentence:

Her and the other members of the group spoke after  their final victory.

A B C D
Options:

4058596035. A

4058596036. B

4058596037. C

4058596038. D

Question Number : 28 Question Id : 4058591868 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option for the following idiomatic expression :

Instead of wasting time in discussions. kindly get down to brass tacks.

Options :

4058596039. to utilize time.

4058596040, to make all possible etforts.

4058596041 . to deal with the matter up-front.

4058596042, to know a thing thoroughly.



Question Number : 28 Question Id : 4058591868 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option for the following idiomatic expression :

Instead of wasting time in discussions. kindly get down to brass tacks.

Options:

4058596039. to utilize time.

4058596040, to make all possible efforts.

4058596041 . to deal with the matter up-front.

4058596042, to know a thing thoroughly.

Question Number : 29 Question Id : 4058591869 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option for the following idiomatic expression:

“Will-o-the-Wisp®
Options :

4058596043, Yearning of the spirit.

4058596044, acting in a foolish way.

4058596045, anything which eludes or decerves.

4058596046, to have desires unbacked by effort.



Question Number : 29 Question Id : 4058591869 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option for the following idiomatic expression:

“Will-o-the-Wisp®
Options :

4058596043, yearning of the spirit.

4058596044, acting in a foolish way.

4058596045, anything which eludes or decerves.

4058596046, to have desires unbacked by effort.

Question Number : 30 Question Id : 4058591870 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option for the following idiomatic expression.

Children and fools should not play with edged tools.

Options:

4058596047, Mmatter that requires delicate handling.

4058596048, to act under pretence.

4058596049, to disregard one's promises or engagements.



4058596050, to take liberty to which one has no rights.

Question Number : 30 Question Id : 4058591870 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option for the following idiomatic expression.

Children and fools should not play with edged tools.

Options :

4058596047, Mmatter that requires delicate handling.

4058596048, to act under pretence.

4058596049, to disregard one's promises or engagements.

4058596050, o take liberty to which one has no rights.

Question Number : 31 Question Id : 4058591871 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling:
Options:
4058596051. COUNTERFIAT

4058596052. CONTOURFIET

4058596053. COUNTERFEIT



4058596054. COUNTERFIET

Question Number : 31 Question Id : 4058591871 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling:
Options :
4058596051. COUNTERFIAT

4058596052. CONTOURFIET

4058596053. COUNTERFEIT

4058596054, COUNTERFIET

Question Number : 32 Question Id : 4058591872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :
Options:

4058596055. PLUTOCRAT
4058596056. PLOTUCRAT

4058596057. PLUTOCRET

4058596058. PLUTOCREAT



Question Number : 32 Question Id : 4058591872 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :
Options :

4058596055. PLUTOCRAT

4058596056. PLOTUCRAT

4058596057. PLUTOCRET

4058596058. PLUTOCREAT

Question Number : 33 Question Id : 4058591873 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :
Options :

4058596059. PRIMOGEANITURE
4058596060. PREMOGENIATURE

4058596061. PREMOGENITURE

4058596062. PRIMOGENITURE



Question Number : 33 Question Id : 4058591873 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling :
Options :

4058596059. PRIMOGEANITURE
4058596060. PREMOGENIATURE

4058596061. PREMOGENITURE

4058596062. PRIMOGENITURE

Sub-Section Number : 2
Sub-Section Id : 405859123
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 4058591874 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (34 to 39)

Question Label : Comprehension



Read the given passage and answer the question that follows:

Biological classification of plants and animals was first proposed by Aristotle on
the basis of simple morphological characters. Linnacus later classified all living
organisms into two kingdoms - Plantae and Animalia. Whittaker proposed an
elaborate five kingdom classification - Monera, Protista, Fungi. Plantae and
Animalia. The main criteria of the five kingdom classification were cell structure,
body organisation, mode of nutrition and reproduction. and phylogenetic
relationships.

In the five kingdom classification. bacteria are included in Kingdom Monera.
Bacteria are cosmopolitan in distribution. These organisms show the most
extensive metabolic diversity. Bacteria may be autotrophic or heterotrophic in their
mode of nutrition. Kingdom Protista includes all single-celled eukaryotes such as
Chrysophytes. Dinoflagellates. Euglenoids. Slime-moulds and Protozoans. Protists
have defined nucleus and other membrane bound organelles. They reproduce both
asexually and sexually. Members of Kingdom Fungi show a great diversity in
structures and habitat. Most Fungi are saprophytic in their mode of nutrition. They
show asexual and sexual reproduction. Phycomycetes. Ascomycetes.
Basidiomycetes and Deuteromycetes are the four classes under this kingdom. The
plantae includes all eukaryotic chlorophyll-containing organisms. Algae.
bryophytes. pteridophytes. gymnosperms and angiosperms are included in this
group. The life cycle of plants exhibit alternation of generations - gametophytic
and sporophytic generations. The heterotrophic eukarvotic, multicellular organisms
lacking a cell wall are included 1n the kingdom Animalia. The mode of nutrition of
these organisms is holozoic. They reproduce mostly by the sexual mode. Some
acellular organisms like viruses and viroids as well as the lichens are not included
in the five kingdom system of classification.

Sub questions

Question Number : 34 Question Id : 4058591875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

'Bacteria are cosmopolitan in distribution’. The meaning of this statement 1s-
Options :
4058596063, Bacteria exist in metro or large cities.

4058596064, Bacteria show most extensive metabolic diversity.

4058596065, Bacteria exist i1 a wide range of places across all countries.



4058596066, Kingdom Monera 1s a vast Kingdom.

Question Number : 35 Question Id : 4058591876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The five kingdom classification of organisms was based on -
Options :

4058596067, morphological characteristics and phylogenetic relationships.

4058596068, ccll structure and mode of nutrition and phylogenetic relationships.

4058596069, ccll structure and body organisation.

4058596070, mode of nutrition and reproduction.

Question Number : 36 Question Id : 4058591877 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The organisms showing 'holozoic' mode of nutrition belong to the kingdom-
Options :

4058596071. Monera

4058596072, Fungi

4058596073. Plantac

4058596074. Animalia



Question Number : 37 Question Id : 4058591878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statement-

Options:

4058596075, Kingdom Protista includes all the multi-celled eukaryotes.

4058596076, Fungi show autotropic mode of nutrition.

4058596077, Members of Kingdom Animalia are heterotropic as well as saprophytic.

4058596078, Plantae include eukaryotic chlorophyll containing organisms.

Question Number : 38 Question Id : 4058591879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A chlorophyll containing organism 1s -
Options :

4058596079. bacteria

4058596080. slime-mould

4058596081, algae

4058596082, virus



Question Number : 39 Question Id : 4058591880 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Bacteria show most extensive metabolic diversity -
Options :

4058596083, because they are cosmopolitan in distribution.

4058596084, because they are single celled organisms.

4058596085, because they belong to the Kingdom Monera.

4058596086, because they may be autotrophic or heterotrophic in their mode of nutrition.

Question Id : 4058591874 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (34 to 39)

Question Label : Comprehension



Read the given passage and answer the question that follows:

Biological classification of plants and animals was first proposed by Aristotle on
the basis of simple morphological characters. Linnacus later classified all living
organisms into two kingdoms - Plantae and Animalia. Whittaker proposed an
elaborate five kingdom classification - Monera, Protista, Fungi. Plantae and
Animalia. The main criteria of the five kingdom classification were cell structure,
body organisation, mode of nutrition and reproduction. and phylogenetic
relationships.

In the five kingdom classification. bacteria are included in Kingdom Monera.
Bacteria are cosmopolitan in distribution. These organisms show the most
extensive metabolic diversity. Bacteria may be autotrophic or heterotrophic in their
mode of nutrition. Kingdom Protista includes all single-celled eukaryotes such as
Chrysophytes. Dinoflagellates. Euglenoids. Slime-moulds and Protozoans. Protists
have defined nucleus and other membrane bound organelles. They reproduce both
asexually and sexually. Members of Kingdom Fungi show a great diversity in
structures and habitat. Most Fungi are saprophytic in their mode of nutrition. They
show asexual and sexual reproduction. Phycomycetes. Ascomycetes.
Basidiomycetes and Deuteromycetes are the four classes under this kingdom. The
plantae includes all eukaryotic chlorophyll-containing organisms. Algae.
bryophytes. pteridophytes. gymnosperms and angiosperms are included in this
group. The life cycle of plants exhibit alternation of generations - gametophytic
and sporophytic generations. The heterotrophic eukarvotic, multicellular organisms
lacking a cell wall are included 1n the kingdom Animalia. The mode of nutrition of
these organisms is holozoic. They reproduce mostly by the sexual mode. Some
acellular organisms like viruses and viroids as well as the lichens are not included
in the five kingdom system of classification.

Sub questions

Question Number : 34 Question Id : 4058591875 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

'Bacteria are cosmopolitan in distribution’. The meaning of this statement 1s-
Options :
4058596063, Bacteria exist in metro or large cities.

4058596064, Bacteria show most extensive metabolic diversity.

4058596065, Bacteria exist i1 a wide range of places across all countries.



4058596066, Kingdom Monera 1s a vast Kingdom.

Question Number : 35 Question Id : 4058591876 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The five kingdom classification of organisms was based on -
Options :

4058596067, morphological characteristics and phylogenetic relationships.

4058596068, ccll structure and mode of nutrition and phylogenetic relationships.

4058596069, ccll structure and body organisation.

4058596070, mode of nutrition and reproduction.

Question Number : 36 Question Id : 4058591877 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The organisms showing 'holozoic' mode of nutrition belong to the kingdom-
Options :

4058596071. Monera

4058596072, Fungi

4058596073. Plantac

4058596074. Animalia



Question Number : 37 Question Id : 4058591878 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statement-

Options:

4058596075, Kingdom Protista includes all the multi-celled eukaryotes.

4058596076, Fungi show autotropic mode of nutrition.

4058596077, Members of Kingdom Animalia are heterotropic as well as saprophytic.

4058596078, Plantae include eukaryotic chlorophyll containing organisms.

Question Number : 38 Question Id : 4058591879 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A chlorophyll containing organism 1s -
Options :

4058596079. bacteria

4058596080. slime-mould

4058596081, algae

4058596082, virus



Question Number : 39 Question Id : 4058591880 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Bacteria show most extensive metabolic diversity -
Options :

4058596083, because they are cosmopolitan in distribution.
4058596084, because they are single celled organisms.

4058596085, because they belong to the Kingdom Monera.

4058596086, because they may be autotrophic or heterotrophic in their mode of nutrition.

Sub-Section Number : 3
Sub-Section Id : 405859124
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 4058591881 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (40 to 45)

Question Label : Comprehension



Read the given passage and answer the question that follows:

Who decides which constituency is to be reserved? On what basis 1s this decision
taken? This decision is taken by an independent body called the Delimitation
Commussion. The Delimitation Commission 1s appointed by the President of India
and works 1 collaboration with the Election Commission of India. It 1s appointed
for the purpose of drawing up the boundaries of constituencies all over the country.
A quota of constituencies to be reserved in each State 1s fixed depending on the
proportion of SC or ST in that State. After drawing the boundaries, the
Delimitation Commission looks at the composition of population mn each
constituency. Those constituencies that have the highest proportion of Scheduled
Tribe population are reserved for ST. In the case of Scheduled Castes. the
Delimitation Commission looks at two things. It picks constituencies that have
higher proportion of Scheduled Caste population. But it also spreads these
constituencies in different regions of the State. This is done because the Scheduled
Caste population is generally spread evenly throughout the country. These reserved
constituencies can be rotated each time the Delimitation exercise is undertaken.

Sub questions

Question Number : 40 Question Id : 4058591882 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statement -

Options:

The Delimitation Commission draws up the boundaries of Constitution all over the
4058596087, country.

The Delimitation Commission works in collaboration with the Election
4058596088. Commission of India.

4058596089, A quota of constituencies to be reserved in each state 1s fixed.

4058596090. Delimitation Commission clustures the SC/ST constituencies.

Question Number : 41 Question Id : 4058591883 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

Delimitation Commission divides the constituencies -

Options:

4058596091, on the basis of a quota for each state.

4058596092, on the basis of the composition of population 1 each constituency.

4058596093. on the advice of the Election Comumission of India.

4058596094. on the directions of the President of India.

Question Number : 42 Question Id : 4058591884 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statements -

Options :

4058596095, Delimitation Commission 1s governed by the Election Commission of India.

4058596096, Lhe constituencies that have Scheduled Tribe population are reserved for ST.

In case of Scheduled Caste. the constituencies are spread in different regions of the
4058596097. State.

4058596098, The reserved constituencies are fixed as per our Constitution.

Question Number : 43 Question Id : 4058591885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



The meaning of the word 'delimut’ 1s -
Options:

4058596099, to describe. draw or explain in detail.

4058596100. to decide what the limits are.

4058596101. to free from boundaries.

4058596102, Involving or showing careful consideration.

Question Number : 44 Question Id : 4058591886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A synonym for the word ‘quota’ 1s

Options :

4058596103. addition

4058596104. acquisition

4058596105, quantity

4058596106, apportionment

Question Number : 45 Question Id : 4058591887 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
The distribution of Scheduled Castes 1s -

Options:



4058596107, concentrated in different regions of states.

4058596108, cven throughout the country.

4058596109, dependent upon the proportion of Schedule Tribes in the country.

4058596110, decides which constituency 1s to be reserved.

Question Id : 4058591881 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (40 to 45)

Question Label : Comprehension

Read the given passage and answer the question that follows:

Who decides which constituency 1s to be reserved? On what basis 1s this decision
taken? This decision is taken by an independent body called the Delimitation
Commussion. The Delimitation Commission 1s appointed by the President of India
and works 1n collaboration with the Election Commission of India. It 1s appointed
for the purpose of drawing up the boundaries of constituencies all over the country.
A quota of constituencies to be reserved in each State 1s fixed depending on the
proportion of SC or ST in that State. After drawing the boundaries, the
Delimitation Commission looks at the composition of population in each
constituency. Those constituencies that have the highest proportion of Scheduled
Tribe population are reserved for ST. In the case of Scheduled Castes. the
Delimitation Commission looks at two things. It picks constituencies that have
higher proportion of Scheduled Caste population. But it also spreads these
constituencies in different regions of the State. This 1s done because the Scheduled
Caste population is generally spread evenly throughout the country. These reserved
constituencies can be rotated each time the Delimitation exercise is undertaken.

Sub questions

Question Number : 40 Question Id : 4058591882 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statement -



Options :

The Delimitation Commission draws up the boundaries of Constitution all over the
4058596087, couniry.

The Delimitation Commission works in collaboration with the Election
4058596088. Commission of India.

4058596089, A quota of constituencies to be reserved in each state 1s fixed.

4058596090. Delimitation Commission clustures the SC/ST constituencies.

Question Number : 41 Question Id : 4058591883 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Delimitation Commuission divides the constituencies -

Options :

4058596091, on the basis of a quota for each state.

4058596092, on the basis of the composition of population in each constituency.

4058596093. on the advice of the Election Commuission of India.

4058596094. on the directions of the President of India.

Question Number : 42 Question Id : 4058591884 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statements -



Options :

4058596095, Delimitation Commission 1s governed by the Election Commission of India.

4058596096, Lhe constituencies that have Scheduled Tribe population are reserved for ST.

In case of Scheduled Caste. the constituencies are spread in different regions of the
4058596097. State.

4058596098, The reserved constituencies are fixed as per our Constitution.

Question Number : 43 Question Id : 4058591885 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The meaning of the word 'delimit' is -
Options:

4058596099, to describe, draw or explain in detail.

4058596100. to decide what the limits are.

4058596101. to free from boundaries.

4058596102, nvolving or showing careful consideration.

Question Number : 44 Question Id : 4058591886 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A synonym for the word ‘quota’ 1s

Options :



4058596103. addition

4058596104, acquisition

4058596105, quantity

4058596106, apportionment

Question Number : 45 Question Id : 4058591887 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
The distribution of Scheduled Castes 1s -

Options :

4058596107 concentrated in different regions of states.

4058596108, cven throughout the country.

4058596109, dependent upon the proportion of Schedule Tribes in the country.

4058596110, decides which constituency is to be reserved.
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Maximum Instruction Time: 0
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Question Id : 4058591888 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the given passage and answer the questions that follow-

Drug major Novartis 1s planning to divest its Indian eyecare portfolio to Mumbai-
based JB Chemicals. in a deal estimated to be around Z 1,000 crore.

The Novartis spm-off will join the list of several MNCs pruning their drug
portfolios and reducing exposure to the Indian market, due to multiple reasons,
mncluding increased competition and tough business environment.

Sources say the move fits well with the MNC's strategy to capitalize its
ophthalmic therapy, while for JB Chemicals it will offer an entry mto a growing
business segment.

Over last few months. global Big Pharma have been divesting their branded
generic portfolio to domestic companies and rationalizing their portfolio by selling
off key assets.

Further, large Indian players are doubling down on India as an attractive
diversification from a US generics market beaten up heavily by price erosion. As
a consequence, several deals were inked where Indian companies snapped up
high-growth brands from MNCs and local sellers at attractive valuations.

The deal is expected to be announced over the next few days. Emails sent across
to Novartis and JB Chemicals did not elicit a response.

Ageing population and increasing access to eyecare, especially in emerging
markets, is a strong growth opportunity for drug companies. The demand for
eyecare is expected to increase significantly as people spend more time in front
of tablets and mobile devices.

Sources added that existing eyecare portfolio in India of Novartis is understood
to be around ¥ 400-500 crore. including certain brands transferred from eyecare
biggie Alcon, when it was spun off from Novartis. In 2019 under a global
restructuring move, Novartis had spun off Alcon into a standalone business to
focus on its core area of pharmaceuticals. Alcon is a global leader in eyecare,
offering solutions to issues like cataracts. glaucoma. retinal diseases and
refractive errors.

The stock market seems to have got a wind of the potential deal. Over the last
few days. scrips of both Novartis India and JB Chem have witnessed a spurt. On
December 7. JB Chem traded on a new 52-week high at T 1555, while Novartis
India stock closed Z 706 on Friday.

Further, Novartis had last year announced the transfer of sales & distribution of
a few of its established medicines. including the Voveran and Calcium range to
Dr.Reddy’s.

Sub questions

Question Number : 46 Question Id : 4058591889 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statement:

Options :

405859611 1. India presents a tough business environment to drug companies.



Over the last few months. global Big Pharma have been investing their branded
4058596112, generic portfolio.

The deal between Novartis and JB Chemicals is expected to be announced over the
4058596113. next few weeks.

The demand for spectacles is expected to increase significantly as people spend
4058596114. more time 1n front of tablets and mobile devices.

Question Number : 47 Question Id : 4058591890 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

One of the big companies in eyecare 1s -
Options :

4058596115. JB Chemicals

4058596116. Alcon

4058596117. Novartis

4058596118, Big Pharma

Question Number : 48 Question Id : 4058591891 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The sales and distribution of the medicine "Voveran' is done by -
Options:

4058596119. Novartis



4058596120. JB Chemicals

4058596121. Alcon

4058596122, Dr: Reddy’s

Question Number : 49 Question Id : 4058591892 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank:

The volecano 1s expected to clouds of steam and ash high into the air
in a couple of days.

Options :

4058596123, divest

4058596124, spurt

4058596125, capitalise

4058596126. elicit

Question Number : 50 Question Id : 4058591893 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The word closest in meaning to ‘pruning’ is

Options :

4058596127, adding



4058596128, frimming

4058596129, increasing

40585961 30. sweetening

Question Id : 4058591888 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the given passage and answer the questions that follow-

Drug major Novartis 1s planning to divest its Indian eyecare portfolio to Mumbai-
based JB Chemicals. in a deal estimated to be around Z 1,000 crore.

The Novartis spm-off will join the list of several MNCs pruning their drug
portfolios and reducing exposure to the Indian market, due to multiple reasons,
mncluding increased competition and tough business environment.

Sources say the move fits well with the MNC's strategy to capitalize its
ophthalmic therapy, while for JB Chemicals it will offer an entry mto a growing
business segment.

Over last few months. global Big Pharma have been divesting their branded
generic portfolio to domestic companies and rationalizing their portfolio by selling
off key assets.

Further, large Indian players are doubling down on India as an attractive
diversification from a US generics market beaten up heavily by price erosion. As
a consequence, several deals were inked where Indian companies snapped up
high-growth brands from MNCs and local sellers at attractive valuations.

The deal is expected to be announced over the next few days. Emails sent across
to Novartis and JB Chemicals did not elicit a response.

Ageing population and increasing access to eyecare, especially in emerging
markets, is a strong growth opportunity for drug companies. The demand for
eyecare is expected to increase significantly as people spend more time in front
of tablets and mobile devices.

Sources added that existing eyecare portfolio in India of Novartis is understood
to be around ¥ 400-500 crore. including certain brands transferred from eyecare
biggie Alcon, when it was spun off from Novartis. In 2019 under a global
restructuring move, Novartis had spun off Alcon into a standalone business to
focus on its core area of pharmaceuticals. Alcon is a global leader in eyecare,
offering solutions to issues like cataracts. glaucoma. retinal diseases and
refractive errors.

The stock market seems to have got a wind of the potential deal. Over the last
few days. scrips of both Novartis India and JB Chem have witnessed a spurt. On
December 7. JB Chem traded on a new 52-week high at T 1555, while Novartis
India stock closed Z 706 on Friday.

Further, Novartis had last year announced the transfer of sales & distribution of
a few of its established medicines. including the Voveran and Calcium range to
Dr.Reddy’s.

Sub questions

Question Number : 46 Question Id : 4058591889 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statement:

Options :

405859611 1. India presents a tough business environment to drug companies.



Over the last few months. global Big Pharma have been investing their branded
4058596112, generic portfolio.

The deal between Novartis and JB Chemicals is expected to be announced over the
4058596113. next few weeks.

The demand for spectacles is expected to increase significantly as people spend
4058596114. more time 1n front of tablets and mobile devices.

Question Number : 47 Question Id : 4058591890 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

One of the big companies in eyecare 1s -
Options :

4058596115. JB Chemicals

4058596116. Alcon

4058596117. Novartis

4058596118, Big Pharma

Question Number : 48 Question Id : 4058591891 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The sales and distribution of the medicine "Voveran' is done by -
Options:

4058596119. Novartis



4058596120. JB Chemicals

4058596121. Alcon

4058596122, Dr: Reddy’s

Question Number : 49 Question Id : 4058591892 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank:

The volecano 1s expected to clouds of steam and ash high into the air
in a couple of days.

Options :

4058596123, divest

4058596124, spurt

4058596125, capitalise

4058596126. elicit

Question Number : 50 Question Id : 4058591893 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The word closest in meaning to ‘pruning’ is

Options :

4058596127, adding



4058596128, frimming

4058596129, increasing

40585961 30. sweetening

Sub-Section Number : 2
Sub-Section Id : 405859126
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 4058591894 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (51 to 55)

Question Label : Comprehension



Read the given passage and answer the questions that follow-

Life Insurance Corporation of India (LIC) reported weak growth through H1FY24
but it witnessed a boost in embedded value (EV) due to equity market
performance. But concerns regarding 1ts stock include loss of market share as 1t is
outpaced by private sector rivals. sticky operating expenses (reduced slightly year-
on-year but up in Q2FY 24 versus Q1FY24). and high sensitivity of embedded
value to equuty volatility.

Traders may also factor in the likelihood of another stake sale by the Government
of India. These concerns are reflected i valuations. LIC trades at a big discount in
price/EV terms (less than 1x) compared to private sector rivals (mostly 3x or
more).

Growth 1s healthy on a sequential basis but weak on a Y-0-Y basis. The individual
annualized premium equivalent (APE) in HIF'Y24 was flat Y-0-Y at ¥ 14.640
crore. whereas the group APE was down by 24.5 percent Y-0-Y to  7.990 crore.
Policies that provide policyholders a share of the msurance company's profits as an
annual dividend payout are also called par or with-profit policies.

The VNB (value of new business) margin was flat on a Y-0-Y basis despite the rise
in share of non-par business. which 1s margin-positive. The VNB margin for
H1FY24 was 14.61 percent against 14.58 percent in HIFY23. Though the rise in
share of non-par products had a positive impact on the VNB margin. more benefits
were given to policyholders, particularly for annuity. which pulled margins down
agaiil.

The product mix shift to non-par should push the VNB margin up 1 the long-term.
But competitive intensity meant product pricing had to be low-margin and more
benefits were offered to policyholders. The annuity rates have also been increased.
The overall APE dropped 10.3 percent over the past year to ¥ 22.630 crore. The
individual business accounted for 64.7 percent of the APE. The individual APE
was flat Y-o0-Y. whereas the group business dropped 24.5 percent.

The solvency ratio 1s adequate. and the movement to non-par is positive for
margins. But further loss of market share would occur unless LIC pushes up
growth rates to match rivals. It's hard to estimate EV trends. Valuations are cheap
which leaves room for some upside.

Sub questions

Question Number : 51 Question Id : 4058591895 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The embedded value 1s very sensitive to
Options :

4058596131. loss of market share

4058596132, Private sector rivals



4058596133, sticky operating expenses

4058596134, cquity volatility

Question Number : 52 Question Id : 4058591896 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The LIC policies that provide the policy holders a share in the company's profits as
an annual dividend payout are known as -

Options:

4058596135, ndividual policies

4058596136, Par policies

4058596137, APE policies

4058596138, non-par policies

Question Number : 53 Question Id : 4058591897 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

was flat on a year-on-year basis despite the rise in share of non-par
business.

Options:

4058596139. embedded value

4058596140, annualised premium equivalent



4058596141, annual dividend payout

4058596142. value of new business

Question Number : 54 Question Id : 4058591898 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

LIC may lose market share further -
Options :

4058596143, 1f the operating expenses remain sticky.

4058596144. unless LIC doesn't cut down its discounts in trades.

4058596145, tnless it pushes up growth rate to match the rivals.

4058596146, if valuations are cheap and leave room for upside.

Question Number : 55 Question Id : 4058591899 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given group of words-

‘the state of not being 1n debt’

Options :

4058596147, cquity

4058596148, solvency



4058596149, margin-positive

4058596150, annuity

Question Id : 4058591894 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (51 to 55)

Question Label : Comprehension



Read the given passage and answer the questions that follow-

Life Insurance Corporation of India (LIC) reported weak growth through H1FY24
but it witnessed a boost in embedded value (EV) due to equity market
performance. But concerns regarding 1ts stock include loss of market share as 1t is
outpaced by private sector rivals. sticky operating expenses (reduced slightly year-
on-year but up in Q2FY 24 versus Q1FY24). and high sensitivity of embedded
value to equuty volatility.

Traders may also factor in the likelihood of another stake sale by the Government
of India. These concerns are reflected i valuations. LIC trades at a big discount in
price/EV terms (less than 1x) compared to private sector rivals (mostly 3x or
more).

Growth 1s healthy on a sequential basis but weak on a Y-0-Y basis. The individual
annualized premium equivalent (APE) in HIF'Y24 was flat Y-0-Y at ¥ 14.640
crore. whereas the group APE was down by 24.5 percent Y-0-Y to  7.990 crore.
Policies that provide policyholders a share of the msurance company's profits as an
annual dividend payout are also called par or with-profit policies.

The VNB (value of new business) margin was flat on a Y-0-Y basis despite the rise
in share of non-par business. which 1s margin-positive. The VNB margin for
H1FY24 was 14.61 percent against 14.58 percent in HIFY23. Though the rise in
share of non-par products had a positive impact on the VNB margin. more benefits
were given to policyholders, particularly for annuity. which pulled margins down
agaiil.

The product mix shift to non-par should push the VNB margin up 1 the long-term.
But competitive intensity meant product pricing had to be low-margin and more
benefits were offered to policyholders. The annuity rates have also been increased.
The overall APE dropped 10.3 percent over the past year to ¥ 22.630 crore. The
individual business accounted for 64.7 percent of the APE. The individual APE
was flat Y-o0-Y. whereas the group business dropped 24.5 percent.

The solvency ratio 1s adequate. and the movement to non-par is positive for
margins. But further loss of market share would occur unless LIC pushes up
growth rates to match rivals. It's hard to estimate EV trends. Valuations are cheap
which leaves room for some upside.

Sub questions

Question Number : 51 Question Id : 4058591895 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The embedded value 1s very sensitive to
Options :

4058596131. loss of market share

4058596132, Private sector rivals



4058596133, sticky operating expenses

4058596134, cquity volatility

Question Number : 52 Question Id : 4058591896 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The LIC policies that provide the policy holders a share in the company's profits as
an annual dividend payout are known as -

Options:

4058596135, ndividual policies

4058596136, Par policies

4058596137, APE policies

4058596138, non-par policies

Question Number : 53 Question Id : 4058591897 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

was flat on a year-on-year basis despite the rise in share of non-par
business.

Options:

4058596139. embedded value

4058596140, annualised premium equivalent



4058596141, annual dividend payout

4058596142. value of new business

Question Number : 54 Question Id : 4058591898 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

LIC may lose market share further -
Options :

4058596143, 1f the operating expenses remain sticky.

4058596144. unless LIC doesn't cut down its discounts in trades.

4058596145, tnless it pushes up growth rate to match the rivals.

4058596146, if valuations are cheap and leave room for upside.

Question Number : 55 Question Id : 4058591899 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given group of words-

‘the state of not being 1n debt’

Options :

4058596147, cquity

4058596148, solvency



4058596149, margin-positive

4058596150, annuity

Sub-Section Number : 3
Sub-Section Id : 405859127
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 4058591900 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (56 to 60)

Question Label : Comprehension

Read the given passage and answer the questions that follow-

India didn't sign the Global Renewables and Energy Efficiency Pledge that aims to
triple global renewable energy capacity and double the rate of energy efficiency by
2030. That's despite having successfully ensured a commitment to the aspiration
by the G20 in the New Delhi Leaders' Declaration.

India has a domestic target of increasing its renewable energy capacity to 450GW
from its current level of 130GW by 2030.

New Delhi's absence from the list of 118 countries that joined the pledge came as
something of a surprise. Prime Minister Narendra Modi had highlighted India's
role as G20 president in securing the agreement on renewable energy capacity and
energy efficiency. All the G20 countries - barring India, China and Russia - have
signed on to the pledge launched on Saturday by COP28 president Sultan Al Jaber.
The pledge seeks to triple global installed renewable energy capacity to at least
11.000GW and double the global energy efficiency improvement rate to more than
4% by 2030.

Asg G20 president, India had pushed for the adoption of a numerical target for the
tripling of renewable energy. without much success. "What 1s interesting 1s that as
the G20 presidency. India pushed for not just the idea of tripling renewable energy
capacities but also attempted to set a target. 11.000 GW by 2030. In its efforts.
India was supported by only the European Union (EU) and its member states. "
said a senior delegate privy to G20 negotiations on energy.

India's decision not to join the pledge can likely be attributed to the focus on coal
and investments in it.

Sub questions



Question Number : 56 Question Id : 4058591901 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the statement that 1s incorrect as per the passage -
Options :

The Global Renewables and Energy Efficiency Pledge aims to triple global
4058596151, renewable capacity.

India's absence from the list of 118 countries that jomed the pledge came as a
4058596152, SWPIISE.

As G20 President. India has pushed for adoption of a cardinal target for the tripling
4058596153, of renewable energy.

In its efforts India was supported by only the European Union and its member
4058596154. states.

Question Number : 57 Question Id : 4058591902 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
The Global Renewables and Energy Efficiency Pledge is floated by

Options :

4058596155. G20

4058596156, India. China and Russia

4058596157, COP1E8

4058596158. EU



Question Number : 58 Question Id : 4058591903 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

India not signing The Global Renewables and Energy Efficiency Pledge comes as
a surprise

Options :

4058596159, since India has a domestic target of increasing its renewable energy capacity.

4058596160, since India. China and Russia are the only G20 countries not to have done so.

4058596161, since the pledge secks to double the global energy efficiency improvement rate.

since India has pushed for the adoption of a numerical target for renewable energy
4058596162, as G20 President.

Question Number : 59 Question Id : 4058591904 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

India has not signed the pledge probably because -

Options:

4058596163, 1ts requirements for renewable energy are way exceeding its target capacity.
4058596164, 1t was not supported by other nations except EU.

4058596165, 1t wants to invest in coal energy.

4058596166, China and Russia have also not signed it.



Question Number : 60 Question Id : 4058591905 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose one word for the given group of words -

‘a strong desire to have or do something’

Options :

4058596167. commitment

4058596168, aspiration

4058596169, Pledge

4058596170, capacity

Question Id : 4058591900 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (56 to 60)

Question Label : Comprehension



Read the given passage and answer the questions that follow-

India didn't sign the Global Renewables and Energy Efficiency Pledge that aims to
triple global renewable energy capacity and double the rate of energy efficiency by
2030. That's despite having successfully ensured a commitment to the aspiration
by the G20 in the New Delhi Leaders' Declaration.

India has a domestic target of increasing its renewable energy capacity to 450GW
from its current level of 130GW by 2030.

New Delhi's absence from the list of 118 countries that joined the pledge came as
something of a surprise. Prime Minister Narendra Modi had highlighted India's
role as G20 president in securing the agreement on renewable energy capacity and
energy efficiency. All the G20 countries - barring India, China and Russia - have
signed on to the pledge launched on Saturday by COP28 president Sultan Al Jaber.
The pledge seeks to triple global installed renewable energy capacity to at least
11,000GW and double the global energy efficiency improvement rate to more than
4% by 2030.

As G20 president. India had pushed for the adoption of a numerical target for the
tripling of renewable energy. without much success. "What 1s interesting 1s that as
the G20 presidency. India pushed for not just the idea of tripling renewable energy
capacities but also attempted to set a target. 11,000 GW by 2030. In its efforts.
India was supported by only the European Union (EU) and its member states. "
said a senior delegate privy to G20 negotiations on energy.

India's decision not to join the pledge can likely be attributed to the focus on coal
and investments in if.

Sub questions

Question Number : 56 Question Id : 4058591901 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the statement that is incorrect as per the passage -
Options :

The Global Renewables and Energy Efficiency Pledge aims to triple global
4058596151, renewable capacity.

India's absence from the list of 118 countries that joined the pledge came as a
4058596152, SUIPIISE.

As G20 President. India has pushed for adoption of a cardinal target for the tripling
4058596153, of renewable energy.

4058596154.



In 1ts efforts India was supported by only the European Union and its member
states.

Question Number : 57 Question Id : 4058591902 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
The Global Renewables and Energy Efficiency Pledge iz floated by

Options:

4058596155. G20

4058596156, India. China and Russia

4058596157. COP1§

4058596158. EU

Question Number : 58 Question Id : 4058591903 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

India not signing The Global Renewables and Energy Efficiency Pledge comes as
a surprise

Options :
4058596159, since India has a domestic target of increasing its renewable energy capacity.

4058596160, since India. China and Russia are the only G20 countries not to have done so.

4058596161, since the pledge seeks to double the global energy efficiency improvement rate.



since India has pushed for the adoption of a numerical target for renewable energy
4058596162. as G20 President.

Question Number : 59 Question Id : 4058591904 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

India has not signed the pledge probably because -
Options:

4058596163, 1ts requirements for renewable energy are way exceeding its target capacity.

4058596164, 1t was not supported by other nations except EU.

4058596165, 1t wants to invest in coal energy.

4058596166, China and Russia have also not signed it.

Question Number : 60 Question Id : 4058591905 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose one word for the given group of words -

‘a strong desire to have or do something’
Options :
4058596167. commitment

4058596168, aspiration

4058596169 Pledge



4058596170. capacity

Sub-Section Number : 4
Sub-Section Id : 405859128
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 4058591906 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension

Read the given passage and answer the questions that follow-

Warning of a potential catastrophe in the Himalayas where the glaciers are melting
at an alarming rate., UN chief Antonio Guterres on Saturday said the ongoing
annual climate talks must respond to the needs of the developing nations,
especially the vulnerable mountain countries that need urgent help.

Almost 240 million people depend on the glaciers and 10 major rivers, such as
Indus. Ganga and Brahmaputra. originate in the Himalayas. Another billion people
living downstream of these rivers across eight countries, including India. are also
dependent on the glacier-fed rivers.

Addressing a meeting with mountain countries at this year's Conference of Parties
(COP28). UN Secretary-General Gutterrs emphasized that nearly a third of Nepal's
ice had vanished 1in just over 30 years, and 1t was directly linked to greenhouse gas
pollution that heats up the planet.

Guterres.who visited Nepal, including the Everest region. in October last week.,
called for developed countries to clarify the delivery of $100 billion and produce a
plan to double adaptation finance to $40 billion a year by 2025.

"But those sums are dwarfed by the scale of what's needed' he said and advocated
tor reform in International Financial Institutions (IFIs) and Multilateral
Development Banks (MDBs) to better cater to the needs of developing countries
like Nepal.

"So, we need the outcome of this COP to call for reform of the IFIs so that they
reflect today's world and are far more responsive to the needs of developing
countries and for reform of the business models of the MDBs so that they can
leverage far more private finance at reasonable cost to the developing countries",
he said. "Unless there 1s a change in course. a catastrophe can be unleashed. The
glaciers could disappear altogether. That means massively reduced flows for major
Himalayan rivers," he said.

Sub questions



Question Number : 61 Question Id : 4058591907 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the mncorrect statement:

Options:

The ongoing annual climate talks must respond to the needs of the developing
4058596171, nations.

4058596172, 10 major rivers depend upon the Himalayan Glaciers.

4058596173, Nearly half of Nepal's ice has vanished in just over 30 years.

4058596174. Guterres advocated for reform in IFIs and MBDs.

Question Number : 62 Question Id : 4058591908 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The primary reason for melting of glaciers in the Himalayan region is:
Options :

4058596175, the needs of the developing nations.

4058596176, the people living down stream of the rivers fed by glaciers.

4058596177, greenhouse gas pollution.

4058596178. the business models of the MDBs.



Question Number : 63 Question Id : 4058591909 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
The UN Chief Antonio Guterres 1s called for:

Options :

4058596179. annual climate talks.

4058596180, reform in IFIs and MDBs to better cater to the needs of developing countries.

4058596181, more private finance at reasonable cost to Nepal.

4058596182, @ change in course.

Question Number : 64 Question Id : 4058591910 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The word closest in meaning to 'possible’ 1s:
Options:
4058596183, ongoing

4058596184, delivery

4058596185, Potential

4058596186. financial

Question Number : 65 Question Id : 4058591911 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the following group of words:

"Weak and easily hurt physically and emotionally’

Options :

4058596187. catastrophe

4058596188. vulnerable

4058596189, dependent

4058596190. dwarf

Question Id : 4058591906 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension



Read the given passage and answer the questions that follow-

Warning of a potential catastrophe in the Himalayas where the glaciers are melting
at an alarming rate, UN chief Antonio Guterres on Saturday said the ongoing
annual climate talks must respond to the needs of the developing nations,.
especially the vulnerable mountain countries that need urgent help.

Almost 240 million people depend on the glaciers and 10 major rivers. such as
Indus. Ganga and Brahmaputra. originate i the Himalayas. Another billion people
living downstream of these rivers across eight countries, including India. are also
dependent on the glacier-fed rivers.

Addressing a meeting with mountain countries at this year's Conference of Parties
(COP28). UN Secretary-General Gutterrs emphasized that nearly a third of Nepal's
ice had vanished in just over 30 years, and 1t was directly linked to greenhouse gas
pollution that heats up the planet.

Guterres.who visited Nepal. including the Everest region. in October last week.
called for developed countries to clarify the delivery of $100 billion and produce a
plan to double adaptation finance to $40 billion a year by 2025.

"But those sums are dwarfed by the scale of what's needed' he said and advocated
tor reform in International Financial Institutions (IFIs) and Multilateral
Development Banks (MDBs) to better cater to the needs of developing countries
like Nepal.

"So, we need the outcome of this COP to call for reform of the IFIs so that they
reflect today's world and are far more responsive to the needs of developing
countries and for reform of the business models of the MDBs so that they can
leverage far more private finance at reasonable cost to the developing countries",
he said. "Unless there 1s a change in course. a catastrophe can be unleashed. The
glaciers could disappear altogether. That means massively reduced flows for major
Himalayan rivers," he said.

Sub questions

Question Number : 61 Question Id : 4058591907 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the incorrect statement:

Options :

The ongoing annual climate talks must respond to the needs of the developing
4058596171. nations.

4058596172, 10 major rivers depend upon the Himalayan Glaciers.

4058596173, Nearly half of Nepal's ice has vanished in just over 30 years.



4058596174. Guterres advocated for reform in IFIs and MBDs.

Question Number : 62 Question Id : 4058591908 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The primary reason for melting of glaciers in the Himalayan region 1s:
Options :

4058596175, the needs of the developing nations.

4058596176, the people living down stream of the rivers fed by glaciers.

4058596177, greenhouse gas pollution.

4058596178. the business models of the MDBs.

Question Number : 63 Question Id : 4058591909 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
The UN Chief Antonio Guterres 1s called for:

Options :

4058596179. annual climate talks.

4058596180, reform in IFIs and MDBs to better cater to the needs of developing countries.

4058596181, more private finance at reasonable cost to Nepal.

4058596182, @ change in course.



Question Number : 64 Question Id : 4058591910 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The word closest in meaning to 'possible’ is:

Options :

4058596183, ongoing

4058596184, delivery

4058596185, Potential

4058596186. financial

Question Number : 65 Question Id : 4058591911 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the following group of words:
"Weak and easily hurt physically and emotionally’
Options :

4058596187, catastrophe

4058596188. vulnerable

4058596189. clep endent

4058596190. dwarf
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Read the given passage and answer the questions that follow-

TV broadcasters and streaming platforms are concerned about the potential impact
on their creative freedom from the ministry of information and ' broadeasting's
(MIB) proposed legislation that would require them to get content certified by an
evaluation committee before broadeasting it.

As part of its three-tier regulatory mechanism to regulate broadcasting content. the
ministry has proposed that each broadcaster and broadeasting network operator
should set up content evaluation committees (CECs) and only those programmes
certified by CECs should be broadcast.

The committee’s members would include eminent individuals representing
different social groups. including women. child welfare, scheduled castes.
scheduled tribes, and minorities. The central government may specify the number
of members in the panel. the quorum required. and other details to assist the
establishment and smooth operation of CEC. The proposal would not only impact
creative freedom of the broadeasters and OTT platforms but also push up costs and
may even prove unfeasible considering the amount of content created, industry
experts said.

TMT Law Practice managing partner Abhishek Malhotra gaid the creative
judgment of broadcasters and OTT platforms will be subjected to another review,
which may not be acceptable to content creators.

"There will also be an 1ssue of sharing content before it's proposed for public
release -fear of disclosure." he said. An MIB official. on condition of anonymity.
said the ministry wants to strengthen self regulation through this move. adding that
the broadecasters will have freedom in running the CECs.

Industry experts called 1t a misnomer. While the CEC will be set up by the
broadcasting companies, it will be as per the preseription of the central
government. noted Siddharth Chopra, M&E practice lead advocate at Saikrishna &
Associates. "This, to my mind. makes self-regulation a non-starter." he said.
terming CECs as mini-certification boards.

The obligation of setting up CECs will apply to TV channels such as Star Plus.
Colors. Zee TV. and Sony Entertainment Television (SET). streaming platforms
such as Netflix. Amazon Prime Video, Disney + Hotstar, and JioCinema, and
platform services provided by operators such as Tata Play. Dish TV. and Hathway
Digital.

Sub questions

Question Number : 66 Question Id : 4058591913 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

To regulate broadcasting content. the mimistry has proposed that -
Options :

4058596191, cach broadeaster should set up content evaluation committees,



4058596192, only certified programmes should be broadcast.

4058596193, broadcasting operator should set up content evaluation committee.

each broadcaster and broadeasting network operator_should set up content
evaluation committees and only those programmes certified by CECs should be
4058596194. broadecast.

Question Number : 67 Question Id : 4058591914 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The meaning of the word EMINENT' given in this passage 1s:
Options:

4058596195, Famous and respected

4058596196. Honest

4058596197. Gentle

4058596198, Hardworking

Question Number : 68 Question Id : 4058591915 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Who are the people or institutions who can specify the number of members in the
panel and other details to assist the establishment and smooth operation of CEC?

Options :

4058596199. The broadcasters



4058596200. The committee's members

4058596201. The Central Government

4058596202, Ministry of Information and Broadcasting

Question Number : 69 Question Id : 4058591916 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct sentence:

Options :

The proposal would impact creative freedom of the broadcasters and push up
4058596203. costs.

The proposal would impact OTT platforms and may prove unfeasible considering
4058596204. the amount of content created.

4058596205, Lhe proposal would not impact OTT platform.

The proposal would not only impact creative freedom of the broadcaster and OTT
platforms but also push up costs and may even prove unfeasible considering the
4058596206. amount of content created.

Question Number : 70 Question Id : 4058591917 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Find out the synonym of 'commitment’ from the passage:

Options:

4058596207, Anonymity



4058596208, “Acceptable

4058596209, Obligation

4058596210. Eminent

Question Id : 4058591912 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (66 to 70)

Question Label : Comprehension



Read the given passage and answer the questions that follow-

TV broadcasters and streaming platforms are concerned about the potential impact
on their creative freedom from the ministry of information and ' broadeasting's
(MIB) proposed legislation that would require them to get content certified by an
evaluation committee before broadeasting it.

As part of its three-tier regulatory mechanism to regulate broadcasting content. the
ministry has proposed that each broadcaster and broadeasting network operator
should set up content evaluation committees (CECs) and only those programmes
certified by CECs should be broadcast.

The committee’s members would include eminent individuals representing
different social groups. including women. child welfare, scheduled castes.
scheduled tribes, and minorities. The central government may specify the number
of members in the panel. the quorum required. and other details to assist the
establishment and smooth operation of CEC. The proposal would not only impact
creative freedom of the broadeasters and OTT platforms but also push up costs and
may even prove unfeasible considering the amount of content created, industry
experts said.

TMT Law Practice managing partner Abhishek Malhotra gaid the creative
judgment of broadcasters and OTT platforms will be subjected to another review,
which may not be acceptable to content creators.

"There will also be an 1ssue of sharing content before it's proposed for public
release -fear of disclosure." he said. An MIB official. on condition of anonymity.
said the ministry wants to strengthen self regulation through this move. adding that
the broadecasters will have freedom in running the CECs.

Industry experts called 1t a misnomer. While the CEC will be set up by the
broadcasting companies, it will be as per the preseription of the central
government. noted Siddharth Chopra, M&E practice lead advocate at Saikrishna &
Associates. "This, to my mind. makes self-regulation a non-starter." he said.
terming CECs as mini-certification boards.

The obligation of setting up CECs will apply to TV channels such as Star Plus.
Colors. Zee TV. and Sony Entertainment Television (SET). streaming platforms
such as Netflix. Amazon Prime Video, Disney + Hotstar, and JioCinema, and
platform services provided by operators such as Tata Play. Dish TV. and Hathway
Digital.

Sub questions

Question Number : 66 Question Id : 4058591913 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

To regulate broadcasting content. the mimistry has proposed that -
Options :

4058596191, cach broadeaster should set up content evaluation committees,



4058596192, only certified programmes should be broadcast.

4058596193, broadcasting operator should set up content evaluation committee.

each broadcaster and broadeasting network operator_should set up content
evaluation committees and only those programmes certified by CECs should be
4058596194. broadecast.

Question Number : 67 Question Id : 4058591914 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The meaning of the word EMINENT' given in this passage 1s:
Options:

4058596195, Famous and respected

4058596196. Honest

4058596197. Gentle

4058596198, Hardworking

Question Number : 68 Question Id : 4058591915 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Who are the people or institutions who can specify the number of members in the
panel and other details to assist the establishment and smooth operation of CEC?

Options :

4058596199. The broadcasters



4058596200. The committee's members

4058596201. The Central Government

4058596202, Ministry of Information and Broadcasting

Question Number : 69 Question Id : 4058591916 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct sentence:

Options :

The proposal would impact creative freedom of the broadcasters and push up
4058596203. costs.

The proposal would impact OTT platforms and may prove unfeasible considering
4058596204. the amount of content created.

4058596205, Lhe proposal would not impact OTT platform.

The proposal would not only impact creative freedom of the broadcaster and OTT
platforms but also push up costs and may even prove unfeasible considering the
4058596206. amount of content created.

Question Number : 70 Question Id : 4058591917 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Find out the synonym of 'commitment’ from the passage:

Options:

4058596207, Anonymity



4058596208, “Acceptable

4058596209, Obligation

4058596210. Eminent
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Question Number : 71 Question Id : 4058591918 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Three numbers are in the ratio 2 ; 3 : 5 and their HCF 1s 6. The numbers are :



Options :

4058596211, 12. 18. 30

4058596212, &. 12, 20

4058596213, 16. 24. 40

4058596214, 4. 6. 10

Question Number : 71 Question Id : 4058591918 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Options:

4058596211, 12. 18. 30

4058596212, 8. 12. 20

4058596213, 16. 24. 40

4058596214, 4. 6. 10

Question Number : 72 Question Id : 4058591919 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In a class of 35 students the average weight of 21 students 1s 46 kg and the average
weight of the remaining students is 41 kg. The average weight of all the students
and a teacher 1s 44.75 kg. What 1s the weight of the teacher (in kg)?



Options :

4058596215. 70
4058596216. 71
4058596217. 71.9

4058596218. 71

Question Number : 72 Question Id : 4058591919 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

a1 35 faential 91 et o 21 faeigl &1 sl aor 46 fedium 8 aur Ay
faenfdal 1 aitad g 41 fhanmd g | gt faenfial qur v e @1 siga
o 44.75 foarmm™ o | & &1 aoF (feawm B) g g2

Options :

4058596215. 70
4058596216. 71
4058596217. 71.9

4058596218. 72

Question Number : 73 Question Id : 4058591920 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

285 215 155 (x) :
If 282 212 D 4 then the value of x. is :
5 15 k] 4



Options :

| R

4058596219.

4058596220. 3

L

4058596221.

4058596222. 0

Question Number : 73 Question Id : 4058591920 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

WME 7215 15
gfg £2_2L2 12 0 5 qi 1AM &
5 15 30 4

Options:

| R}

4058596219.

4058596220. 3

Lhn

4058596221.

4058596222, 0

Question Number : 74 Question Id : 4058591921 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

By selling an item at a discount of 20%. the profit 15 20%. The profit percentage. if
the item 1s sold at a discount of 10%. is:



Options :

4058596223, 30%
4058596224, 32%
4058596225, 35%

4058596226. 38%

Question Number : 74 Question Id : 4058591921 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

ol O Bl 20% B TR &9 UR 20% BT A1H 81 & | Al 9% Dl 10% DI BE
TR &1 S ol A1 Uaerd &1 g

Options :

4058596223, 30%
4058596224, 31%
4058596225. 35%

4058596226. 38%

Question Number : 75 Question Id : 4058591922 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Out of four numbers whose average 1s 75. the first number is one-fourth of the sum
of the last three numbers. The first number is :



Options :

-]
| ]

4058596227.

M
Ch

4058596228. -

4058596229. 60

4058596230. 64

Question Number : 75 Question Id : 4058591922 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
IR G131 BT 319 75 8. 374 G Ugell I i~ o= Tl & g &l
U@ 91YTs ¢ | U5l 9 o

Options :

-]
| ]

4058596227.

L
Ch

4058596228.

4058596229. 60

4058596230. 64

Question Number : 76 Question Id : 4058591923 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

0.963x0.963—0.963 x 0.037 +0.037x0.037 _

0.963x0.963x0.963+0.037 x0.037x0.037 N




Options :

4058596231. -1

4058596232. 0

4058596233. 1

4058596234. 2

Question Number : 76 Question Id : 4058591923 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

0.963x0.963—0.963 x 0.037 +0.037x0.037 _

0.963x0.963x0.963+0.037 x0.037x0.037

Options:

4058596231. -1
4058596232. 0
4058596233. 1

4058596234, 2

Question Number : 77 Question Id : 4058591924 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
| I 1

Ifad +b3 =¢3, then(a+b— .9}3 + 27abc 13 equal to :



Options :

4058596235. 0
4058596236. 1
4058596237. -1

4058596238. 27

Question Number : 77 Question Id : 4058591924 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

afg ”_'I, ; h; :L'Eﬁ (a+b—c) +27abe W% :

Options :

4058596235. 0
4058596236. 1
4058596237. -1

4058596238. 27

Question Number : 78 Question Id : 4058591925 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The number 325325 1s divisible by :

Options :



4058596239. 7 and 19

4058596240. 19 and 13

4058596241. 23 and 13

4058596242, 11 and 13

Question Number : 78 Question Id : 4058591925 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

325325 G301 foogar g1 faursa g2

Options :

4058596239, 7 311X 19

4058596240. 19 31X 13

4058596241 23 311X 13

4058596242. 11 3 13

Question Number : 79 Question Id : 4058591926 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The single digit value of k satisfying algebric relation k+ 1k + 2k + k4 + k2 = 19k,
18

Options :



4058596243. 7

4058596244, 6

L

4058596245.

4058596246. 4

Question Number : 79 Question Id : 4058591926 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TSRO FER b+ 1k + 2k + k4 + k2 = 19k T £ 1 TP b1 T &:

Options :

4058596243, 7

4058596244. 6

L

4058596245.

4058596246. 4

Question Number : 80 Question Id : 4058591927 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

If the sum of two numbers is 12 and their difference is 8. then the product of the
two numbers, 1s :

Options:

4058596247. 16



40585962438. 18

| R
o

4058596249.

4058596250. 21

Question Number : 80 Question Id : 4058591927 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

afe 31 el BT I 12 § AR SPT SR 8 &, dl 37 &1 FeHedl &1 qurhd
g

Options:

4058596247. 16

4058596248. 18

| R
o

4058596249.

4058596250. 21

Question Number : 81 Question Id : 4058591928 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
The L.C.M. of 33. 54, 108. 165 and 198 1s :

Options :

4058596251. 4960



4058596252, 5010
4058596253, 5940

4058596254. 6010

Question Number : 81 Question Id : 4058591928 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

33. 54, 108, 165 3R 198 P TYTH THYTA &:

Options:

4058596251. 4960
4058596252. 5010
4058596253. 5940

4058596254, 6010

Question Number : 82 Question Id : 4058591929 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A dishonest shopkeeper professes to sell grains with only 4% profit. but uses a
taulty weight and gives only 800 gm in place of 1 kg. The actual profit percentage
of the shopkeeper, i3 :

Options :

4058596255, 24%



4058596256. 26%
4058596257. 28%

4058596258. 30%

Question Number : 82 Question Id : 4058591929 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U 450 DGR S dIDR Had 4% TSI HHMH Bl ala] Dl &, LH%
W{ﬁaﬁﬁaﬂﬁﬂw%’ﬁiﬂ 1 T eI &1 S7T8 800 UTH ST Gal 5 |
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Options:

4058596255. 24%
4058596256. 26%
4058596257. 28%

4058596258. 30%

Question Number : 83 Question Id : 4058591930 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

2.'-.'+5 _4{211} ~
E{EH-I'L{)_ -

Options :
4058596259.



2n+1 _l

4058596260. 2" +1

4058596261, 2" +1

7
4058596262. 8

Question Number : 83 Question Id : 4058591930 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
2}? | 5 _4{*‘}”)

2{ 2”4“1 }

Options :

-}.I.I-I_ l

4058596259. 4

4058596260. 2" +1

4058596261, —2" +1

7

4058596262. 8

Question Number : 84 Question Id : 4058591931 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

Three partners A. B and C started a business. Twice A's investment 1s equal to
thrice B's investment and B's mvestment is four times C's investment. Out of a
total profit of T 49500 at the end of the year. B's share in the profit is :

Options :

4058596263, T 12,000
4058596264, < 14.000
4058596265, 2 16,000

4058596266, < 18.000

Question Number : 84 Question Id : 4058591931 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

oiiF F3IER A, B 3R ¢ e Uo a9 SIRY BXd 61 AD MaU S B
& a9 & foi & 90 ¢ U1 B &1 (Ha% ¢ & Mo ST IR 1 g1 a9 & 3id
T 2 49,500 & Hd ATH T B PT YT 3

Options:

4058596263, 2 12,000

4058596264, < 14.000

4058596265, < 16,000

4058596266, < 18,000

Question Number : 85 Question Id : 4058591932 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In a certain election 92% of the total voters cast their votes and the winning
candidate got elected with 75% of the votes polled. What percent of the number of
total votes did he get?

Options:

A
]
=]

4058596267. -
4058596268. 69%
4058596269. 67%

4058596270. 72%

Question Number : 85 Question Id : 4058591932 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

fep it I1a F 02% TdIArdt 3 T febar qur faudr SHigaR TdeH fad
Td Hdl & 75% I FHall=d g1 | 39 $d Tl BT [doa=1 Ui UIed §3H1?

Options :

A
]
w

4058596267. -

4058596268. 69%a

4058596269. 67%

4058596270. 71%

Question Number : 86 Question Id : 4058591933 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A boat can go three-quarter of a kilometer upstream in 11 minutes 15 seconds and
also cover the same distance downstream in 7 minutes 30 seconds. The speed of
boat 1n still water. 1s :

Options :

4058596271. 2 kimn'h
4058596272. 3 km'h
4058596273. 4 kim'h

4058596274. 5 kim'h

Question Number : 86 Question Id : 4058591933 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

U 19 YR1 @1 f[aulid fe=n & &9 Iiurs fardies 1 fiFe 15 Gpus d o
TPl § SR JH g Bl ¥R 3t fG=n & 7 e 30 9&vs ¥ a9 o Favdl o
YT ol § 771d i 71fd &

Options :
4058596271. 2 fa At ufd guer
4058596272. 3 Td AT Ufd gueT

4058596273, 4 Tdd! Ufd gueT

4058596274, 5 T&H1 Ufd gueT



Question Number : 87 Question Id : 4058591934 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The incomes of A and B are in the ratio 9 : 4 and their expenditures are in the ratio

7: 3. If A saves % of his income, then the ratio of their savings 1s :

Options:

4058596275, 63 : 32
4058596276. 69 : 35
4058596277.9 : 5

4058596278. 36 : 23

Question Number : 87 Question Id : 4058591934 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

AT B BT 3T &1 ST 9 : 4 § AR 3 o0 $I 391 7: 3 51 Tl A 3
3G D1 LU 911 8, 1l 11 §=idl Pl SAUTd &:

Options :

4058596275. 63 : 32

4058596276. 69 : 35

4058596277.9 : 5

4058596278. 36 : 13



Question Number : 88 Question Id : 4058591935 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Jayant gave 20% of his savings to his elder son, 30% of the rest to his younger son
and 10% of the still remaining as donation to a trust. He 1s left with T 5040. Find
his total savings.

Options :

4058596279, < 25.000
4058596280, % 20,000
4058596281, < 15.000

4058596282, T 10,000

Question Number : 88 Question Id : 4058591935 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

S 3 YAl §9d Bl 20% U 99 8¢ DI ¢ (&1, UV DI 30% 30 BIC §¢ DI
IR 3t i I BT 10% TH I HI S & Y H ¢ [0 3@ I9P 9
75,040 99 5 | 39D P 994 o:

Options :

4058596279, < 25.000

4058596280, < 20,000

4058596281, < 15.000



4058596282, T 10,000

Question Number : 89 Question Id : 4058591936 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The average age of 6 sons of a family 1s 8 years. The average age of the sons
together with their parents 1s 22 years. If the father 1s 8 years older than the
mother. then the age of father (in years) 1s :

Options :

4058596283. 70

4058596284. 68

4058596285. 66

4058596286. 65

Question Number : 89 Question Id : 4058591936 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U URaR & 6 GAI $ g & | QA T ATG1-UdT &t 3{1™9d
oy g1 afe faar. rrm@fsaﬁ ﬂﬁmﬁmﬁﬁﬁ}%
Options:

4058596283. 70

4058596284. 68

4058596285. 66



4058596286. 65

Question Number : 90 Question Id : 4058591937 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Two mixtures A and B contain milk and water in the ratio 4 : Sand 7 : 4.
respectively. In what ratio the two mixtures be mixed to obtain a new mixture
having 55% muilk?

Options :

F
|

4058596287. 5 :
4058596288. 7 : 9
4058596289. 9 : 11

4058596290. 11 : 13

Question Number : 90 Question Id : 4058591937 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

& Ty A 3R B T Q¥ TUT I &7 Sf0Td HHR: 4 : 5 AU 7: 4 31 TA AN
forsyort 1 feo srgaTa H e fean 9y o6 73 firyor 7 g 55% 81 9 2

Options :

A
|

4058596287. 5 :

4058596288. 7 : 9

4058596289. 9 : 11



4058596290. 11 : 13

Question Number : 91 Question Id : 4058591938 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A starts a business with 2 42.000 and is joined afterwards by B with Z 72.000.
After how many months did B join if the profits at the end of the year are divided
equally?

Options :

4058596291. 4

L

4058596292.
4058596293. 7

4058596294. 8§

Question Number : 91 Question Id : 4058591938 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A+ TS MUK 2 42,000 ¥ RY A1 7Y $& TGl 918 B 2 72.000 S 1Y
SgH GitHferd gl gfe a9 & 3{d § @1 DI §RIeR dicl T |l B fbd- #gii
D dIg I3

Options :

4058596291. 4

L) |

4058596292.

4058596293. 7



4058596294. 8

Question Number : 92 Question Id : 4058591939 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A room cooler is marked for ¥ 13,500 and is available at an off-season discount of
15%. The shopkeeper offers another discount to his friend and sells the cooler for 2
10.557. The percentage of second discount given to his friend. is :

Options :

4058596295. 6%
4058596296. 8%
4058596297. 10%

4058596298. 9%

Question Number : 92 Question Id : 4058591939 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

[l =1 PeR 1 sifdhd T 7 13.500 § SR U8 HIH 950 IR 15% dg WR
YA § | GHHER U 79 DI U SR G214 2 10,557 H &gl o1 30
{21 1 138 o aTdl g¥ @ T Uided &:

Options:

4058596295. 6%

4058596296. 8%



4058596297. 10%

4058596298. 9%

Question Number : 93 Question Id : 4058591940 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
If 16% of 250 + 115% of 480 = 10% of N. then what 1s the value of N?

Options:

4058596299. 5220

4058596300. 53880

4058596301. 5920

4058596302. 4980

Question Number : 93 Question Id : 4058591940 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
gfd 250 BT 16% + 480 BT 115% = N BT 10%, dI N BT T I B
Options:

4058596299. 5220

4058596300. 5880

4058596301. 5920



4058596302. 4980

Question Number : 94 Question Id : 4058591941 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A piece of work can be done by Ram in 10 days. If Mohan joined him and both
together finished the work in 6 days, then the ratio of their one day work is :

Options :

4058596303.1: 3

| )
]

4058596304.

| ]

4058596305. 3 :

4058596306. 3 : 1

Question Number : 94 Question Id : 4058591941 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Y foddt 1 T 10 e § 01 R wobdl ¢ 1 Al Agd o 39S 91y § 9 SIY
Il aF W1y H e 39 & 3l 6 &A1 § W R od 5| 390 Ud & & D

&1 ST &

Options:

4058596303.1: 3

| R
]

4058596304.

| ()

4058596305. 3 :



4058596306. 3 : 1

Question Number : 95 Question Id : 4058591942 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A shopkeeper sold an item for T 528 and suffered a loss of 4%. In order to get 10%
profit. for how much should he have sold the item?

Options :

4058596307. % 605
4058596308. % 584
4058596309. % 550

4058596310. ¥ 542

Question Number : 95 Question Id : 4058591942 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

UP GDHIFGR - [l a%d P17 528 T a1 3R 3 4% Bi 81 8| 10% BT @Iy
U 3 & ol 39 39 a5 Dl {hg e W &=-1 IR0 U

Options:

4058596307. Z 605

4058596308. ¥ 584

4058596309. ¥ 550



4058596310. % 542

Question Number : 96 Question Id : 4058591943 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

1 1 1
(y—z) {y—x)

The value of — 18
(z—x)

i — T
1+p + p* 3 i+p['1‘_"'}+p[" I 1t p +p

Options:

4058596311. 3
4058596312. 1
4058596313. 0

4058596314. -1

Question Number : 96 Question Id : 4058591943 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

I ] I
(z=y) i ]+p{:

DT HA

l_l_p{y—:}_l_pl[x—:} l_|_pt.1:—,1-‘]l+p 1+p{_1-‘—:r -x)

Options :

4058596311. 3
4058596312. 1

4058596313. 0



4058596314. -1

Question Number : 97 Question Id : 4058591944 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A sum of money becomes double in R years at an annual rate of simple interest.
What 1s the annual rate of interest?

Options :

4058596315. 9%
4058596316. 10%
4058596317. 12%

4058596318. 7%

Question Number : 97 Question Id : 4058591944 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

@5 o AT R N1 § GIYRU] &7 Bl alNe &2 IR &l -1 6 Ol § | STl &1
g R F1 82

Options:

4058596315. 9%

4058596316. 10%

4058596317. 12%



4058596318. 7%

Question Number : 98 Question Id : 4058591945 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A milkman has 3 vessels containing 67 litres, 139 litres and 187 litres.
respectively of pure milk. A measuring jar. after a different number of exact
measurements of milk in each vessel. leaves the same amount of milk unmeasured
in each vessel. What is the volume of the largest such jar?

Options :

4058596319. 24 litres
4058596320. 18 litres
4058596321. 16 litres

4058596322. 12 litres

Question Number : 98 Question Id : 4058591945 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

fopft aret & ORI T S HHL: 67 TeR, 130 AR aUT 187 Al & & | Ta®
§oi-1 1 gY & geiop A1 ! fafid ¥ o €18 U HIYH §R YA &+ 4
wgqﬁmmﬁmﬁﬂgﬁﬁsam%l U USR & TaY 8 oR $T 319
FR?

Options :

4058596319, 24 Tl



4058596320 18 TR

4058596321 16 TCX

4058596322, 12 TleX

Question Number : 99 Question Id : 4058591946 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
(0.12562x0.3179) = (0.9537)x (0.25124) =

Options :

| )
L

4058596323.

L]
o

4058596324.

4058596325. 1/3

4058596326. 1/6

Question Number : 99 Question Id : 4058591946 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

(0.12562x0.3179)+(0.9537)x%(0.25124) =

Options:

4058596323. 2/3



4058596324, 3/5
4058596325. 1/3

4058596326. 1/6

Question Number : 100 Question Id : 4058591947 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

(0.{_}0? (}.(}49)‘2 2500
If + =

. then value of k15 :

0.049 0.007 K—1
Options:
4058596327. 50

4058596328. 49
4058596329. 24

4058596330. 0.07

Question Number : 100 Question Id : 4058591947 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
2
007  0.04 2500
af 0.00 +[ 049 _ 50
0.049 0.007 K—1

Options :

A kBTOAE:

4058596327. 50



4058596328. 49

4058596329. 24

4058596330. 0.07

Analytical & Logical Ability

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 101 Question Id : 4058591948 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Two adjacent faces of a cube are coloured and cut into 64 identical small cubes.
How many of these small cubes are not coloured at all?

405859111
4

Online
Mandatory
25

25

25

Yes

0

1
405859131
Yes

null



Options :

4058596331. 4.2
4058596332. 48
4058596333. 24

4058596334. 36

Question Number : 101 Question Id : 4058591948 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U U9 & gl [(Hocad! Bad JH 8 SR 64 0 Y U= § Hc UG 5 Blc
g1 I T foha faepa $iH 81 82

Options:

4058596331. 41

4058596332. 48

4058596333. 24

4058596334, 36

Question Number : 102 Question Id : 4058591949 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Count the number of cubes 1n the given figure :

Options :

4058596335. 8
4058596336. Y
4058596337. 12

4058596338. 15

Question Number : 102 Question Id : 4058591949 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

&1 11 3opfa & Ul Bt Tem Bt T FIT

Options :



4058596335. 8§

4058596336. Y

4058596337. 12

4058596338. 15

Question Number : 103 Question Id : 4058591950 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

M. N. 0. P. X. Y and Z are sitting around a circle facing the centre. Z 1s second to
the left of O. who 1s to the immediate left of Y. M is third to the left of X. N is
between P and X. Which of the following option is true?

Options :

4058596339. O is fourth to the left of N

4058596340. P 15 second to the left of X

4058596341, M 1s to the immediate right of Z

4058596342, N 1s second to the right of Z

Question Number : 103 Question Id : 4058591950 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



fordl g & IRI 3R D5 Bl 3R lrgf{ﬁﬁﬂm N,0.P.X.Y 3R Zd35U
810,51 v & Mpead arli 3R § SR 0 & adl SR gAMWW Z 51 M. X
%Mﬁ?ﬂﬂ%@ﬂ?m%maﬁ?x%ﬂmw%ﬁﬁaﬁﬁﬂﬁﬁﬁﬁm
fdme 9a g2

Options :

4058596339, N & aTdl R Y RIFM TR O B

4058596340 X P ST R M W WP §|

4058596341, Z & fHdead arif IR M B

4058596342, Z P &Tl R G WA RN T

Question Number : 104 Question Id : 4058591951 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Seven soldiers are standing in a row facing North. B 1is standing left to C but right
to A. F is standing right to G and left to A. Similarly D is standing right to C and
left to E. Who are sitting between A and D?

Options:
4058596343. C and D
4058596344, B and C

4058596345. F and B

4058596346. B and E

Question Number : 104 Question Id : 4058591951 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

1 P T Uik H SR G2 Bl SR GG PRb WS 81 B, C h a1 3R B
fbq A @ ol 3R €1 F. G & 3l 3R 8 3R A D a1 R8I SHI PR D, C &
S AR WS AUTE & &Rl IR WS 8| ATUI D HF AH B 82

Options :

4058596343. C 3R D

4058596344. B 3R C

4058596345, F 3R B

4058596346. B 3R E

Question Number : 105 Question Id : 4058591952 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
If A = B means A 1s the brother of B.

A+ B means A 15 the son of B
A + B means A 15 the mother of B
A — B means A 1s the husband of B

Which of the following would mean X is the father of Y?
Options:
4058596347. X = Z-Y

4058596348 X ~Y + Z

4058596349, X—-Z+Y



4058596350. X+ Z~+Y

Question Number : 105 Question Id : 4058591952 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

afc A« BT A4S A, BPTHS &l

A+-BHIATA BHIdCIgI
A+BHT AT A BHIHEIRI

A-B@HT3S A BHTUAGI

fraftfaad o s afem e v & foarx &
Options :

4058596347. X <« Z-Y

4058596348 X~ Y + Z

4058596349, X —-Z+Y

4058596350. X + Z~+Y

Question Number : 106 Question Id : 4058591953 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Tejasva met Rakesh who 1s related to Tejasva because Tejasva 1s the father of
Deepak who 1s married to Garima. Garima 1s the daughter of Rakesh. Garima has a
daughter named Ishika. How is Tejasva related to Ishika?

Options :



4058596351. Father-in-law
4058596352, Uncle
4058596353, Grand father

4058596354, Brother

Question Number : 106 Question Id : 4058591953 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

o Xh T ¥ e off dorg & REdeR © a4ifdr doikd 19 97 19l © off 71T
T faared 8 | TR T & G 81 TR 3 SR A B Gl 1 doa @r
ST 9 T R 2

Options :

4058596351, 49%
4058596352, dIdl

4058596353. alq

4058596354.1W§

Question Number : 107 Question Id : 4058591954 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



If X' stands for "addition', '<' for 'substraction'. '+ for 'division', ™' for
'multiplication’, '-' for 'equal to', '+' for 'greater than' and "=' for 'less than' then state

which of the following option 1s true?

Options :

4058596355, 3 x 4>=1-0+3<3

-

4058596356. 5 x 3 < T+ 8+4 x 1

v
W
| ]
|
| ]
I
-
]
oy
ik
e
*
(#a]

4058596357. 5

4058596358. 3 x 2 =4+~ 16=1+4

Question Number : 107 Question Id : 4058591954 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Al ! BT SRR AT < BT SR eI, '+ BT U, "> P T, ! I GHM.
= T S g7 9YT = BT 599 FH ¢ df Fgfafad § 9 &F 91 fasen 98t 2

Options :

4058596355, 3 x4 >=1-0+3<3

-

4058596356. 5 x 3 <7+ 8+4 x 1

¥
W
| ]
|
| ]
I
-
]
oy
ik
e
*
(#a]

4058596357. 5

4058596358. 3 x 2 <4~ 16>2+4

Question Number : 108 Question Id : 4058591955 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



In the following 1if signs ' and "' also numbers 4 and & are interchanged. then
which of the following equations would be correct?

Options :

4058596359, 8§ —4 = 1= 1§
4058596360. 6 —4 = § = 40
4058596361, 4 —8 = 12 =20

4058596362, 6 % 4 —8 = 30

Question Number : 108 Question Id : 4058591955 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

fafaRad & afg fag — iR« & T & W TR G DI SR J=1 4 3R 8
@] W U & WM IR g DI 9 a1 oY af HafaRad gHieu 8 9 F &1
el g2

Options :
4058596359, 8§ —4 = 1= 1§
4058596360. 6 —4 = § = 40

4058596361. 4 —8 = 12 =20

4058596362, 06 * 4 —8 = 30

Question Number : 109 Question Id : 4058591956 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Given question is based on the following arrangement of symbols, letters and
numbers : Study carefully

19BQ=%$25RJL3I@YMEG8*-DF4pH70O

How many such numbers are there in the arrangement each of which 1s
immediately preceded by a symbol but not immediately followed by a letter?

Options :

4058596363. Nil
4058596364. Une
4058596365. Two

4058596366. Three

Question Number : 109 Question Id : 4058591956 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
feram Trar wy-ferg, quit SR SRemrsil o Faftiad caw &R aeiia &
AP SHTTF DIfoTY

t9BQ=$25RJAL3I@YMEG8*-DF4pHT O

T T 5 UHR B fbat 9@ € o q¥d Ted U9 % § IR qed a1g
U% g 8] 82
Options :

4058596363, <K

4058596364, UF

4058596365, &l

4058596366, T



Question Number : 110 Question Id : 4058591957 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Study the following arrangement carefully and answer the question below :
RESDAPS3ITIQ79B#2K%UIMW4*JEN

Which of the following 1s exactly in the middle between 3 and 1 in the above
arrangement?

Options :
4058596367. B

4058596368. K

4058596369. 9

=

4058596370.

Question Number : 110 Question Id : 4058591957 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

[AfREd S=gur &1 eAHYd® g BIfoTU 3R 1= U 7T U &1 FWR
i

RESDAPS3TIQ79B#2K% UIMW4*I8N

Sydad eI H 3 3R 1 & ol A I Hafaraa 4 A A g»

Options :

4058596367. B



4058596368. K
4058596369. 2

4058596370. #

Question Number : 111 Question Id : 4058591958 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Mr. Khanna walked 40 meters towards East. took a right turn and walked 60
meters. Then he took a left turn and walked 40 meters. How far and in which
direction is he now from the starting point?

Options :

4058596371, 80 meters, East

4058596372, 100 meters. South-East

4058596373, 80 meters, South-East

4058596374, 100 meters, South

Question Number : 111 Question Id : 4058591958 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ot |91 g0 B 3R 40 Y, T 3. T61 3 d gl 3R 3d § 3R 60 1. T@ax
R d TR SR G35d § 3R 40 U1, I6d § | 30 URD [675 9 9 3fd fdvaii %
HR fog fgzm & 52

Options :

4058596371.



sodl. qd

4058596372, 100 .. cf&mr.qd

4058596373, 80 H1.. <f&mr-qd

4058596374, 100 HI.. &f&m

Question Number : 112 Question Id : 4058591959 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A clock 18 %0 placed that at 12 noon its minute hand points towards North-East. In
which direction does its hour hand point at 3 p.m. or 15 hrs.

Options :

4058596375. East
4058596376. South
4058596377. South-East

4058596378. North-East

Question Number : 112 Question Id : 4058591959 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



U9 OS] 59 06 X1 55 © (& o1 aRE g9l U@ [ie arell 5 SuR-qd &t
R S Tl 81 T g0 ORI I1 15 991 59! Ue ardl 9 g fean g
R

Options :

4058596375. qﬁ

4058596376, GI&I0T

4058506377, SI&U-gd

4058596378, S E'qﬁ

Question Number : 113 Question Id : 4058591960 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Find the wrong term in the following number series :

4058596379. 125
4058596380. 81
4058596381. 341

4058596382. 49

Question Number : 113 Question Id : 4058591960 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
fraferRead e e # Terd S=1 &1 udl g

5.25,125,7,49,341,09, 81, 729
Options :

4058596379. 125

4058596380. 81

4058596381. 341

4058596382. 49

Question Number : 114 Question Id : 4058591961 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following number series :

5.11.12,16:21.26. 32, 7 . A5,.61
Options :

4058596383. 41

4058596384. 40

4058596385. 38

4058596386. 37

Question Number : 114 Question Id : 4058591961 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

frafeiad g @ § o 901 B Udl g

5.11,12,16,21,26,32, _ 2?2 45,61
Options :

4058596383. 41

4058596384. 40

4058596385. 38

4058596386. 37

Question Number : 115 Question Id : 4058591962 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Find the missing terms (in order) in the following alphabet series :

sdict. ¥ he. 7 G4

———— =

Options:

4058596387, -]

4058596388, - k

4058596389. L. |

4058596390, L. k



Question Number : 115 Question Id : 4058591962 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
i auimrer @ 8 O Ul (PHER) B I1d SITe:

]

adetf. 2?2 _hp

B |

Options :

4058596387, -]

4058596388, - k

4058596389. L. ]

4058596390. L. k

Question Number : 116 Question Id : 4058591963 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Find the odd term which does not fit into the series given below :

G4T, J10R, M20P, P43N. S90L.V185]
Options :

4058596391, G4T

4058596392. J10R

4058596393. M20P

4058596394. P43N



Question Number : 116 Question Id : 4058591963 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

g% fird Ug 3ra Sifoe off A9 < Tt @ § Sugad ol o

G4T, J10R., M20P. P43N, S90L. V185]

Options:

4058596391. G4T

4058596392. J10R

4058596393, M.20OP

4058596394. P43N

Question Number : 117 Question Id : 4058591964 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In a certain code. STOVE 1s written as FNBLEK. then how will VOTES be written
in the same code?

Options :

4058596395. FLKBN

4058596396. LBNKF

4058596397. LKNBF

4058596398. LNBKF



Question Number : 117 Question Id : 4058591964 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

fop<fl (T%d e H, STOVE &1 FNBLK @ &4 ¥ foral §rdl 5. a1 39 de 8
VOTES &I foog =u # ferar simume

Options :

4058596395. FLKBN
4058596396. LBNKF
4058596397. LKNBF

4058596398. LNBKF

Question Number : 118 Question Id : 4058591965 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Inacertamcode, Qiswrnttenas E.AasC.Mas [, Pas Nand C as S. How will
COMPA be written in that code?

Options :
4058596399. SMINC
4058596400. SEIAC

4058596401. SEINC

4058596402, SEIMI



Question Number : 118 Question Id : 4058591965 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

[P YT P T, 0P ED EUT [T TG ADICHFEIH MBI P
EUH PHING EUH Y C BI S D &Y H [¢7@] oIdl g1 39 He § COMPA
1 B fora S

Options :

4058596399. SMINC

4058596400. SEIAC

4058596401. SEINC

4058596402, SEIMI

Question Number : 119 Question Id : 4058591966 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In the question given below. there are two statements labelled as Assertion (A) and
Reason (R). Mark your answer as per the codes provided below :

Assertion (A) : A ship rises as it enters the sea from a river.

Reason (R) : The density of sea water 1s higher as compared to river water.
Options :
4058596403, Both (A) and (R) are true and (R) 1s the correct explanation of (A).

4058596404, Both (A) and (R) are true but (R) is not correct explanation of (A).

4058596405, (A) 1s true but (R) 1s false.



4058596406, (A) 1s false but (R) 1s true

Question Number : 119 Question Id : 4058591966 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

93 T U Uy T 31y (A) IR BRUT (R) 719 § g By AU MU &

HIUDYA (A) : T4 U Y% T YA B §U oeTol IR 364l 5|
BRI (R) : T4l oI DI Ja-1 § THG! &d DT Y- D §idl g |
-9 fEU T el & SFER 3UH1 3R [Higd BITeE:

Options :

4058596403, (A) SR (R) T GBI T, TUT (R). (A) BT T WHHU T |

4058596404, (A) SR (R) B TE1 8. g (R). (A) T He! WHIHRU e &

4058596405, (A) T & fhd (R) SEA T

4058596406, (A) 3 T fhd (R) A&

Question Number : 120 Question Id : 4058591967 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



A statement 1s followed by two conculsions numbered (I) and (II). Assume
everything in the statement to be true. Consider the two conculsions together and
decide which of them logically follow/s beyond or reasonable doubt from the
information given in the statement.

Statement : Money is a huge motivator for people.
Conclusions : (I) People can be motivated by some other factors other than money.

(IT) People get motivated only when they expect to get some money
for doing or behaving in a certain way:.

Options :

4058596407, 1f only conclusion I follows
4058596408, 1f only conclusion II follows

4058596409. If either I or II follows

4058596410. If neither I nor II follows

Question Number : 120 Question Id : 4058591967 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

US HUF & UHTd &l PN (1) 3R (11) fET U § | I ifor fos s o 1 g
gt 91 9 . g1 Al 1R U 91y fogR & 3R Avflg &3 i sy 9 &
TS YT 4 378 U BIF qheid &0 3 48 Y I

HY : Y ARl & AU 95d 951 IR g
e : () AT e A A 59 s IR ¥ R IRT B uwd B

(1) AT had aul URd Bid § 9id 36 $© &3 31 Hiaug aeld I
AER P b [0 $S o (e DI SR Bl 5

Options :

4058506407, TI& DT R (1) 3Fadl &




4058596408, A6 BaT 5B (1) Al &

4058596409, TG A1 Tl S (1) A1 e (1) Sradl

4058596410, ATe =T a1 s (1) 7 €1 Fsp (11) el B

Question Number : 121 Question Id : 4058591968 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In the question below are given three statements followed by three conelusions
numbered L. II and III. You have to take the given statements to be ture. even if
they seem to be at varriance from the commonly known facts. Read all the
conclusions and then decide which of the given conclusions logically follow/s
trom the given statements disregarding commonly known facts.

Statements ; Some mountains are hillocks. Some mountains are rivers. Some
mountains are valleys.

Conclusions : I. All mountains are either hillocks or rivers or valleys.
I1. No valley is river.
III. Some rivers are valleys.

Options :

4058596411. None follows
4058596412, Only I follows

4058596413, Only either II or III follows

4058596414, Only III follws



Question Number : 121 Question Id : 4058591968 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

-1 fau U Uy T d1H Sy fGU U g1 39 YR UR (1), (1) d (1I1) oI sy
[epTel U B 1 THHY I ad & fire & &1 fRufa & ot 3 39 g
B D1 T T | (5Bl DI UG 3R 70 B ([ GG Jd a P IR (1
gﬁﬁﬁﬁﬁﬁ.ﬁqwﬁﬁﬁﬁaﬁq—mﬁwﬁmwﬁﬂﬁw

I

Y : B USTS CId | PO UBTS el & | P UgTS UIicai o
fseps : (1) 94 ugTs T a1 A § a1 Al ar uifeni g

(In) BT =1 ¢t Tl B

(II) $& Al °rfedi g1
IR difore:

Options:

4058596411, IS 3iad I8! ¢

4058596412, Pad (I) 31=d gl

4058596413, AT (II) 31UdT (I11) SiEGE]

4058596414, P (111) I gl

Question Number : 122 Question Id : 4058591969 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In a certain vear. 15 August is on Wednesday and my birthday falls on 4th Friday
of the same month. What 1s the date of my birthday?

Options :



27 A

4058596415, =2 Avgust
4058596416, <4 Avgust
4058596417, 17 August

4058596418, 26 August

Question Number : 122 Question Id : 4058591969 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

fordt g T 15 3FTR 1 §UAR § 3R TR & 61 391 I & 91 YhaR &l
g1 IR O 3 & SH-41 dRiE §7

Options :

4058596415, 22

4058596416, 24 3

4058596417. 17 21

4058596418. 26 3T

Question Number : 123 Question Id : 4058591970 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

N ranks fifth in a class. S is eigth from the last. T 1s sixth after N and just in the
middle of N and S. How many students are there in the class?

Options :



4058596419. 23

4058596420. 24

I
i

4058596421.

4058596422. 26

Question Number : 123 Question Id : 4058591970 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Pefl H N 1 Uiad] R 81 S 1R S0 3 31891 8| N & 916 T 36 /AR
& TUIN 3R s & 31 g 1 | H& o o fba faemadf 82

Options :

4058596419. 23

4058596420. 24

| R
i

4058596421.

| R
Ch

4058596422.

Question Number : 124 Question Id : 4058591971 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



A statement 1s followed by two courses of action numbers I and II. Assume
everything in the statement to be true and on the basis of the information given in
the statement, decide which of the suggested courses of action logically follow(s)
tor pursuing.

Statement : There has been large number of cases of internet hacking in the recent
months. Which has created panic among the internet users.

Courses of action :

(I) The Government should make all the efforts to catch those who are responsible
and put them behind bars.

(IT) The internet users should be advised not to use internet till the hackers are
caught.

Options :

4058596423, 1f both (I) and (II) follow for pursuing

4058596424, 1f only (II) follows for pursuing

4058596425, 1t either (I) or (II) follows for pursuing

4058596426, 1f only (I) follows for pursuing

Question Number : 124 Question Id : 4058591971 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

TS HU P UYTd &1 PRiarRyr (1) iR () T8 &I A A v su H i g
TR ST U © 3R 59 Y H €1 5 91 & 3R R FHofa 3 & sars 15
HRIARAl H I D qhuid U Y U $3- oq Sd o |

HYT : BT & HeHl § go] T H e3¢ o’ & HIHA AU & forg- Sede
SUGS dtell & &9 3ide el [3ar gl

HIATS : (1) IWOR DI 59F (074 oHIGR Al I T e+ ddl 3¢ od § 64
P & fog Ut war oA 91ieu|

(I1) Eex-Ic SUUNTEG IS I g8 TaIE &1 dlfet f 5/d 9@ gax o
9% s oild d Sed-c & JaiT "ol B




Options :

4058596423, 1% &1 (1) 3R (11) SFHTEH 3 8 S ¢

40585096424, 316 BT (IT) ST B &G 3 €|

4058596425, J1% A1 T (1) T (1) SFIUTeH X 8 Sfd €|

4058596426, T1G AT (1) SIUIRH B3 &g S g |

Question Number : 125 Question Id : 4058591972 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
IfAT =20

BAT =40

Then CAT will be equal to :
Options :

4058596427. 30
4058596428. 50

4058596429. 60

4058596430. 70

Question Number : 125 Question Id : 4058591972 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

AT =20

BAT =40

dl CAT THH 8ITT:
Options :

4058596427. 30

-]
o

4058596428. -

4058596429. 60

4058596430. 70

General Knowledge And Current Affairs

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

405859112
5

Online
Mandatory
25

25

25

Yes

0

1
405859132
Yes

null



Question Number : 126 Question Id : 4058591973 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Who 18 the present Comptroller & Auditor General of India?

Options :

4058596431. Girish Chandra Murmu

4058596432, Manoj Soni
4058596433, Vinod Rai

4058596434, A. K. Bhalla

Question Number : 126 Question Id : 4058591973 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

YRd & g9 8= Ud Heeal RI&® S 87

Options :

40585096431, TR =% GH,

4058596432, HAIS 1

4058596433. g-1g I

4058596434, U. &, Yl



Question Number : 127 Question Id : 4058591974 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Who won the silver medal in Javelin Throw in the Asian Games 20237

Options :

4058596435, Kishor Kumar Jena

4058596436, Neeraj Chopra

4058596437, Tajinder Pal Singh

4058596438. Murali Sreeshankar

Question Number : 127 Question Id : 4058591974 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

UfemETs Wd-2023 B yren e wfagifiar § 3od Uew & fauiar o &2
Options :

4058596435, PR THR ST

4058596436, XY I e

4058596437, dfoiax d1d &g

4058596438, JX¢l 2 IRIPHR



Question Number : 128 Question Id : 4058591975 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following States did NOT have Assembly Elections whose
results were declared in December 20237

Options :

4058596439. Chhattisgarh

4058596440, Rajasthan

4058596441, Madhyapradesh

4058596442, Tharkhand

Question Number : 128 Question Id : 4058591975 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

frafeiad gl O 9 fog s § {9y gu1 g41d el gU forge uRony fgemer
2023 J YIS gU 42

Options :

4058596439, TTITIG

4058596440, XTI

4058596441, HEI UGN

4058596442, ARES



Question Number : 129 Question Id : 4058591976 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

It was built in 1924 to welcome King George—V and Queen Mary. represents a fine
example of the Indo-Sarcene style of architecture in India.

Options :

4058596443, India Gate

4058596444, Aguada Fort

4058596445, Gateway of India

4058596446. Bom Jesus Basilica

Question Number : 129 Question Id : 4058591976 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

=] 10T 1024 T fob71 TGl —v QU1 B17 T &1 WHTd B3 & oL o
o1, U8 YRd § SSI-9RMR IR ol &1 ISP I&E0 Tl 5|

Options :

4058596443, < Sq17le

4058596444, IS BIC

4058596445. eq T 5[3&

4058596446, a9 WY dfeidT



Question Number : 130 Question Id : 4058591977 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following National Parks 1s wrongly matched with the State 1t 1s
located in?

Options :

4058596447. Kanha National Park - Maharastra

4058596448, Bandhavgarh Nationl Park - Madhya Pradesh
4058596449, Sunderban National Park - West Bengal

4058596450, Indravati National Park - Chhattisgarh

Question Number : 130 Question Id : 4058591977 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ﬁagﬁm?@ﬂqﬁwaﬂ%m@mﬂﬁ&? IR el e 7l foan
Tl g?
Options :

4058596447. G ”E T SEM - HeRIg

4058596448.{_3’TI L :g TSl - HEH M

4058596449, SERE BT ST - TIEH ST



4058596450. < ETadl Elé E - BUTE

Question Number : 131 Question Id : 4058591978 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In France, The Declaration of the Rights of Man and Citizen. painted by the artist
Le Barbier in 1790. He used many symbols to express various rights, Identitfy.
which symbol from the following represents symbol of royal power.

Options :

4058596451, Phrygian Cap

4058596452, Snake biting its tail to form a ring

4058596453, The winged woman

4058596454, Sceptre

Question Number : 131 Question Id : 4058591978 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Wi H gy 1790 ¥ FREeR o aifdeR 7 o8 3R AMR®! & fUeR] &1 °ivur
1 (i fooan ur1 351 fafts SRl @t sifieaidd & forg 9gd 9 Udie
gl &1 g faar ut| Hgifed § I 1 Sifon fe fag udie fag 9 <o
T BT FAR=gur gidr 82

Options :

[ = 1
4058596451, A Iglvid— oYy

4058596457 T4 BRI 30 G &1 id ¥ Bled gU aard &1 (A0 &l



4058596453, 1@ R

4058596454, THTI

Question Number : 132 Question Id : 4058591979 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Match List I with List IT

LISTI LISTII
(Struggles by Gandhiji) {Year)
Travelled to Champaran, Bihar to inspire
A |the indigo peasants against plantation I. 11930
sVstem.
B. ii?'agraha against the proposed Rowlatt 1 li919

Satvagraha movement amongst cotton -
Tokts H II. 1917
mill workers

L.

D. |Reached Dandi and violated the Salt Law | IV, |1918

Choose the correct answer from the options given below:
Options :

4058596455, A-III. B-II. C-1. D-IV

4058596456, A-IIL B-I. C-IV. D-II

4058596457 A-IV. B-I. C-III. D-I

4058596458, A-IIL B-II. C-IV. D-I

Question Number : 132 Question Id : 4058591979 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

i1 SR Gell-11 &1 gaferd S
A I

critfet ¥ wed) @
o [T @1 St B art framt ot i o & fog fer & [
" |HuRY o H Y i
B. |U¥dIfdd cie Ude o [a5s G 1. |1919
C. |[gdiawd fird dHeR! & foU Samg il 1. |1917
D. [GIS1 I B THS B Bl Jewig fdbdl IV. |1918
-4 feu e fdw el & O Hel SR AT
Options:

4058596455, A-III. B-II. C-1. D-IV

4058596456, A-IIL B-I. C-IV. D-II

4058596457 A-IV. B-IL. C-III. D-I

4058596458, A-IIL B-II. C-IV. D-I

Question Number : 133 Question Id : 4058591980 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Who 1s the author of the book. 'The Mughals of India'?
Options:

4058596459, John F. Richards

4058596460. Shireen Moosvi



4058596461, Bamber GasGoigne

4058596462. Harbans Mulhia

Question Number : 133 Question Id : 4058591980 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

qXeh ' I 3 S5 & IFigdl $IH 82

Options :

4058596450, S 0. RESH

4058596460. R Ea

4058596461, SOR IHDIG

4058596462, X8 Ei G|

Question Number : 134 Question Id : 4058591981 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is wrongly matched?

Author/Editor - Book
Options:

4058596463. Urvashi Butalia - The Other Side of Silence

4058596464, Gyanendra Pandey - The Partitions of India



4058596465. Muszhirul Hasan - India's Partition

4058596466. Alok Bhalla - Stories About The Partition of India

Question Number : 134 Question Id : 4058591981 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
4 & 4 Ty gafed gl 82

AL E9ed - [Bde
Options :

4058596463, Il gerfer] - € 3eR HIgS 3{1H 5oy

4058596464, I IS - T UICRM {1 357l

4058596465, IR B - SIST™ TIfERH

4058596466, AT HT - TR SE3< & YT 3 357

Question Number : 135 Question Id : 4058591982 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Granite 1s an example of
Options :

4058596467, Intrusive igneous rocks



4058596468, Extrusive igneous rocks

4058596469, Sedimentary rocks

4058596470, Metamorphic rocks

Question Number : 135 Question Id : 4058591982 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

TEc (@PUIRA) PTG 3aEU gl
Options :

4058596467, ST 4. ST Tl

4058596468, STGAHT. STHT T

4058596469, 2194 : €l

4058596470, =11 i € i

Question Number : 136 Question Id : 4058591983 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
The Standard Meridian of India (82° 30' E) passes through :

Options:

4058596471, Bhopal



4058596472, Mahendragir

4058596473, Mirzapur

4058596474, Chhattisgarh

Question Number : 136 Question Id : 4058591983 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
YR P HHSD JIIRR @1 (82° 30' 9d) EESCARIGEGIR

Options :

4058596471, HITTA

4058596472. Il%:;ﬁ 1N

4058596473. _ﬂigi

4058596474, ©TTTle

Question Number : 137 Question Id : 4058591984 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following 1s not a feature made by a river in a flood plain?
Options :

4058596475, Levees



4058596476. Ox bow lake

4058596477. Meander

4058596478. Glaciers

Question Number : 137 Question Id : 4058591984 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
916 arel HeHT & & 7t ¥ fFwifeed & ¥ frue Aafnr T grar e

Options :

4058596475, dcay

4058596476, 1O &1 T (TIRITET FHIHR )

4058596477, fagdur

4058596478. IR ( %] @)

Question Number : 138 Question Id : 4058591985 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Odometer 1n vehicle measures :

Options :

4058596479. Odour



4058596480, Speed

4058596481. Fuel level

4058596482. Distance moved

Question Number : 138 Question Id : 4058591985 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
arg 1 '3TsiHiex’ ey Arge® g2

Options :

4058596479, TTY

4058596480. dIcl

4058596481, 2o BT TR

4058596482, 99 P1 TTg &1

Question Number : 139 Question Id : 4058591986 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Match the items given in Column I with those in Column II.

Column 1 Column IT
A |Autotrophs I. |Animals
B. |Heterotrops II. |Fungi
C. |Parasite I1I. |Plants
D. |Saprotrophs IV. |Mosquito

Choose the correct answer from the options given below:
Options :

4058596483, A-L B-II. C-III. D-IV

4058596484, A-IIL B-II. C-IV. D-I

4058596485, A-III. B-I. C-IV, D-II

4058596486, A-III. B-II. C-IV. D-I

Question Number : 139 Question Id : 4058591986 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Y T 3R Y 11 & HEl I Al BIfoIL:
WHI WY I

A [Gurd 1 [e4

B. |fquH et . |&Ha®

C. |gzsitdt 11 |96y

D. [qaurdi IV. [H=3e

= feu e fawedl ¥ 9 gel 3wk AT

Options :

4058596483, A-L B-II. C-III. D-IV

4058596484, A-IIL B-II. C-IV. D-I



4058596485, A-III. B-I. C-IV., D-II

4058596486, A-IIL. B-II. C-IV, D-I

Question Number : 140 Question Id : 4058591987 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Tiny pores present on the surface of leaves through which carbon dioxide 1s taken
in 1s called as :

Options :

4058596487. stomata

4058596488, guard cell

4058596489, chlorophyll

4058596490, cytoplasm

Question Number : 140 Question Id : 4058591987 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

gRiEal & Uy W B (&) 1Y Oy giaR PlasgHiaugs 98Ul faar o 6.
Pead
Options :

4058596487, T IHET (R4D)



4058596488, ST (&1 DI

4058596489, BIXT AP (AT NiEas))

4058596490, PITPT %o (HISCIEITSH)

Question Number : 141 Question Id : 4058591988 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements in respect of MS word :
(A) To deselect text. one has to click on any area outside the selected area.
(B) To change the size of a word. one has to press the font style drop down arrow.

Which of the above statements 1s/are correct?

Options :

4058596491. Ulﬂ}-‘ 'I:A:!I 1s correct.

4058596492, Only (B) is correct.

4058596493, Both (A) and (B) are correct.

4058596494, Neither (A) nor (B) 1s correct.

Question Number : 141 Question Id : 4058591988 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



UH. UY. 98 & 4 H Hgifed oual iR fiar sifo:

(A) THE B feUdiae B+ & U Yoide [y 70 &3 & giex (el Hi &7 |
ESERERIRSIGIE

(B) TS &1 U5 950+ & AU Bie WEd 3aers- W &I I I3 9sdi o |
3qdad § T S 914 HY- Tol o/8°

Options :

4058596491, PAT (A) HET B

4058596492, 94 (B) eI B

4058596493, (A) 3R (B) BHI F&I §

4058596494, 7 I (A) FEI T8I (B) Wl B

Question Number : 142 Question Id : 4058591989 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Match the following column I with column II.

Column 1 Column IT
Hard disk I. |Input device
Monitor II. |Processor

Microphone [11. | Storage
CPU IV. |Output device

ofa[w[=

Choose the correct answer from the options given below:
Options:
4058596495, A-IIL. B-IV. C-II. D-I

4058596496, A-IIL. B-IV, C-I. D-II



4058596497, A-L. B-III. C-II. D-IV

4058596498, A-Il. B-I. C-IV, D-III

Question Number : 142 Question Id : 4058591989 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

[ =

Bl 1 3R Bl 11 B gHferd Pifoe:

PHIAA 1 HITH 11
A [z fewn 1. |3y feasy
B. |9Tex I (TR
C. |9E®imE |01 |[dYsSrm
D. |3idig IV. |3r3eye feargy
Options:

4058596495, A-IIL B-IV. C-II. D-I

4058596496, A-ITL. B-IV, C-I. D-II

4058596497, A-L. B-III. C-II. D-IV

4058596498, A-IL. B-I. C-IV. D-III

Question Number : 143 Question Id : 4058591990 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Federalism in the Constitution of India, refers to which of the following?
Options:

4058596499.



All adult (18 years and above) citizens of India have the right to vote irrespective
of their social and economic backgrounds.

4058596500, India does not officially promote any one religion as the state religion.
4058596501, Existence of more than one level of government m India.

Three organs of government in India are - the legislature. the executive and the
4058596502, Judiciary.

Question Number : 143 Question Id : 4058591990 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

YRd & Fidu § Hudrg Fafarad o 9 fad defiid e g?
Options :

fopit oft wrmfore qur sfdes gEefH & o ard YRd & 9l ag% (18 79 3R
4058596499, HUR) AR B HefalH BT HYDR U g

YR SRS =0 3 G ot vo vd 1 w0 & v & =9 o gerar 7g! <l
4058596500, 8 |

4058596501, HIRT H TRTR &1 T 4 AIH TR FI PR [dg9H o

4058596502, HRA B TR & oF 37 fae= gsa SsruIfed! AR Aais § |

Question Number : 144 Question Id : 4058591991 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

Which among the following statements 1s NOT correct about the Rajya Sabha?

A. Tt 1s the representative of the States of India in the Parliament.

B. A legislation cannot be initiated in the Rajya Sabha.

C. 12 members to the Rajya Sabha are nominated by the President of India.

D. The members of the Rajya Sabha are elected by the Judges of the Supreme
Court of India and the State High Courts.

Choose the correct answer from the options given below :

Options :

4058596503, 4 and B only

4058596504, B and C only

4058596505, 4 and C only

4058596506, B and D only

Question Number : 144 Question Id : 4058591991 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

I YT & §R & Fefarad oy 8 ¥ 2H-917d $YT 38 Te 82

A. U8 I ¥ YRd & I & Ui g1
B. IIog YT & faym-fAaior urey =8t far 1 g@ar g
C.YRdA & SR ¥5g 94T & AU 12 gexg 59H1d fbu 9I1d §
D. I GHT & GeT S=dH IaY 3R I & I ATl & gRI
fatfra feu o €1
Frafaied faeel & 9 98l S 9T

Options :

4058596503, ad A IR B

4058596504, BT B AR C



4058596505, T A AR C

4058596506, ad B AR D

Question Number : 145 Question Id : 4058591992 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following was the first State in India to introduce the midday meal
scheme in all government elementary schools to provide children with cooked
lunch?

Options:

4058596507. Andhra Pradesh
4058596508. Tamil Nadu
4058596509. Kerala

4058596510. Karnataka

Question Number : 145 Question Id : 4058591992 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

frafafad § 9498 YR &1 &4 913y & forgq 9yt Swart uiufis et
T &=l 1 U1 §3HT HATG UIGH U & & feft TeArg= HisH gioll &1
URY fopar um

Options :

4058596507, HTY UGT



4058596508, THIG

4058596509, P

4058596510. Pl

Question Number : 146 Question Id : 4058591993 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Chaudhary Devi Lal. led a movement called Wyaya Yudh' and formed which new
party among the following?

Options :

405859651 1. Nationalist Congress Party

4058596512, Bahujan Samaj Party
4058596513. Janta Dal

4058596514. Lok Dal

Question Number : 146 Question Id : 4058591993 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A1eRt gt oe - = g AW U Sfig o gl SR Hafeiad ¥ 9 fog g
q1el &7 1184 faa

Options :




4058596511, "¥HeRE HIUg et

4058596512, TgIT HHI Ic

4058596513, SiHdl ad

4058596514. TIP add

Question Number : 147 Question Id : 4058591994 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

When was the office memorandum, reserving 27 percent of the vacancies in civil
posts and services under the Government of India for the socially and
educationally backward classes (SEBC). 1ssued by the Government of India?

Options :

4058596515. 1990
4058596516. 1992
4058596517. 1995

4058596518. 1998

Question Number : 147 Question Id : 4058591994 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



YRA IWPR - I 3R e w0 4 fUes ol (Tagard) & e YRd
WHR & Aditd [afda ggi iR Sarsit & Rfdaal o1 27 ufawd sRféa & &
PITaY U B ot f[Han

Options :

4058596515. 1990
4058596516. 1992
4058596517. 1995

4058596518. 1998

Question Number : 148 Question Id : 4058591995 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
What 1s known as Fixed Capital?

Options:

4058596519, Land and other natural resources

4058596520, Tools. machines and buildings

4058596521, Raw material and money in hand

4058596522. Educated uneducated workers

Question Number : 148 Question Id : 4058591995 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



[rad doll & =9 H fdd 511 oiTdl 87

Options :

4058596519, HIH Td 30 UTp{dd SHI¢H

4058596520, SUPRUL UA T4 Ha-

4058596521, P AT HR T&IId &

4058596522, TR1Ea/ 3HRITEd HTHIR

Question Number : 149 Question Id : 4058591996 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The Trade Policy Reforms are aimed at which of the following :

A. Dismantling quantitative restrictions on import and exports
B. Reduction of taniff rates
C. Removal of licensing procedures for imports

Choose the correct answer from the options given below :
Options :

4058596523, /A and B only

4058596524, B and C only

4058596525, 4 and C only

4058596526, A. B and C



Question Number : 149 Question Id : 4058591996 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

frafaiad ¥ © forg W R Hifd R dférd feu o 82

A. Ta7d vd Hafd )R aErEs ufaasi &1 @vsH

B. W[ Xl I BH!

C. 3TTd B SRR Hichar3if &1 frspra-
feu Ty fae el ¥ 9 9l 3w gHT

Options :

4058596523, ad A 3R B

4058596524, Tad B AR C

4058596525, ad A 3R C

4058596526, A. B 3R C

Question Number : 150 Question Id : 4058591997 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A "Perspective Plan' spelling out some general goals as well as specific economic
objectives to be achieved by the government. 1s for which of the following period
of time?

Options :

4058596527, 1 year

4058596528, J years



4058596529, 20 years

I-J

4058596530, <3 years

Question Number : 150 Question Id : 4058591997 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

IBR GRI P FIURUI A&d & F1y-Hry [y sifde suafer] o ur &
& 35,0 ardl URved Ao FafaRad O 9 fod smamafe g8q sl 82

Options:

4058596527 1 a4

4058596528, 5 AY

4058596529, 20 T8

4058596530, 25 @8



